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����� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � �
����� ��������� ��������
�� 
�� ������
������ � � � � � � � � �
���� ��� !��� n = 3 � � � � � � � � � � � � � � � � � � � � � � � "

��� ��� #���� $������������� � � � � � � � � � � � � � � � � � � � � ��
����� ����������� � � � � � � � � � � � � � � � � � � � � � � � � ��
����� %&������� 
�� '�(�������� � � � � � � � � � � � � � � � ��
���� %���
���)���������
�� � � � � � � � � � � � � � � � � � � �*
����+ ,������ ����� � � � � � � � � � � � � � � � � � � � � � � � � 

�� ��� �����������(� '�(���� � � � � � � � � � � � � � � � � � � � � �+
�� �� -�
������� � � � � � � � � � � � � � � � � � � � � � � � � ��
�� �� ��� �����������(� '�(���� ��� #���� $�������������

.�� (������������ ����� � � � � � � � � � � � � � � � � � �/

� ��
���������� �� n ��
�������� ��
��� ����������� � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �
��� %���
���)���������
�� � � � � � � � � � � � � � � � � � � � � � �  �
�� 0
�����
�� �����)�������&�� � � � � � � � � � � � � � � � � � � + 

�� �� ��� !��� n = 3 � � � � � � � � � � � � � � � � � � � � � � � ++
�� �� ��� !��� n = 4 � � � � � � � � � � � � � � � � � � � � � � � +/

��+ �����������(� '�(���� � � � � � � � � � � � � � � � � � � � � � � ��
��+�� ,1��� (�� Rϑψ

LA
γ = eγ � � � � � � � � � � � � � � � � � � ��

��+�� #�������
������������ � � � � � � � � � � � � � � � � � � �/

� ��
���������� �� �� ��
 �� ����������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �"
 �� %���
���)���������
�� � � � � � � � � � � � � � � � � � � � � � � �2
 � 0
�����
�� �����)�������&�� � � � � � � � � � � � � � � � � � � ��
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 � �� ����
�����
�� ��� ����
���4 
�� 3����)������ � � � � �*
 � � ���� ���������(� �����(������
�� � � � � � � � � � � � � � / 

 �+ �����������(� '�(���� � � � � � � � � � � � � � � � � � � � � � � /�
 �+�� ,1��� (�� Rϑ,φψ

LA
γ = eγ � � � � � � � � � � � � � � � � � /�

 �+�� #�������
������������ � � � � � � � � � � � � � � � � � � /"

������ �	

� ��������� ��� ������ �	
��� ��� -����4!
������ Γ � � � � � � � � � � � � � � � � � � � � � *�
��� ��� 5�
�.�43��&���� P (α,β)

m � � � � � � � � � � � � � � � � � � � *�
�� ��� -����.�
��43��&���� Cλ

m � � � � � � � � � � � � � � � � � � *�
��+ ��� ,�������43��&���� Pm 
�� ��� ������������ ,�������4

!
�������� P l
m � � � � � � � � � � � � � � � � � � � � � � � � � � * 

��� ��� $�
��.&�
��643��&���� �� ��� Um � � � � � � � � � � � � � *+

! "���� ���������� �� n ��
�������� ��
7�� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � *�
7�� ������
������ � � � � � � � � � � � � � � � � � � � � � � � � � � � *�
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7��� %�
��
� ��� #���� $������������� ��� ��� �)�������������� !��� ��4
��� ���� %���������� ��������8 )��� ��� �� #���� $������������� ��� �����4
�����
�� 9����� �:� ���� )�
����� ��)���
�� �������8 �����
� ��� �)�������4
�������� ;���
��������������� �� ���  � #���� $������������� ����������
���� 9����� �:� ��� ���������������� ;���
�������������� ��������� <���

)��� ����������� ��� #1����� $������������� .��1����=8 ������ ��
� ���� 7�4
��
�
�� �:� ��� 3����� ��� )�����
� ��� ��� ��� �� #���� $�������������
������� '������� :.�����
�� �� ��
��8 ���� .�� ��� #���� $������������� (��4
�� 3��.���� .����� �� ������ ,���� �:� ��� �)��������������� !��� 
�����

��
)
�����

9�� ��� ������� ��� ���������� 	
�
�
�����
���� ��
��
�� ����������
<�
�� �3# '������ .�)� �3#'= ���� �
� >���
� ?�������� ����(��� ��)��4
���8 ����� ����������
��� 9����� �
�
� ���  � #���� $������������� .�4
�
����.�� )���8 (��� @��A 4 @� A� !�����
� ��� �� �������)���� �
�
��
� (�� '�4
�������8 �. .�)� �
� )��
�� B���� ��
� ��� �:� ��� �� #���� $�������������
���������� ����.����� �
� ��� ����������������� !��� :.�������� �������

'� ������ C
���������� ��� �

� ����� ��.��� �
 �����D ��� ,������4
����� 3��.���8 ��� ��
� ���
�
� ��������8 ���� ��� ���������� ����� �
�
�:� .�������� #�
��
���� (��������8 ��� �� C)��������������� �:� ��� #����
$������������� ��������� 
�����

�� )������ %������� .���
���� ����� �
�4
.�
��� �
� ��� (�� ����� �� @��A ������.���� %���
���)���������
�� �� @�A
��� �
���1���� �����������(� '�(�����

-��������� ��� (����������� ��.��� ��� �
� ��� 7���
��
�� ��� �����4
������(�� '�(����� �:� ��� ���������
���
�� ,������4����� #���� $�������4
������� ��.�� )����� ��� .������ ��������� ��.����� @��A 
�� @�A ��� ,��������
�������

'� ������ 	������ ��.�� )�� ����� E.��.��
� :.�� ��� ���
 �1����� �����4
�����
��� -�
�������� �� ��
� ��� %���������� ���  �4,������4����� #����
$������������� ������( ���
�� �
� �1���� ����������� (��������������� �����8
.������� )�� ��� ��� 	
�����
����
�������� �� n ������������ �� ������
��
��������� ������
������ ��� #���� $�������������� C
����� ������� )��
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��� �����������(� '�(���� ��������� (�� 
�� .���
���� ��� ������� �:� ���
#���� $������������� �� n ����������� .�� (���������� (���:�.���� ������

'� 	������ � )��� ��� �����������(� '�(���� ����� ���������� ,������4
����� #���� $������������� �:� .����.��� ��������� n ≥ 3 .���
����� ���
?������� 
��������� ��
� ��.�� �� B�������
��� �� �)�� %
������D C
��
���
)��� ��� %���
���)���������
�� .������� 
�� ��� �.�����(�������� ��� %��4
�
���)���� ������� �
�����
��� ����������� ��
������ '� ���
��
�� �����
)��� ���� �� �)����� %
����� ��� F���� ��� %���
���)���������
�� ��� #�4
������
���������� ��� �����������(�� '�(����� .������� 
�� ��� ��� ���
#���� $������������� .�� (������������ ����� (�����
����

��� ?������� �� 	������  ��� ����������� �����
� )�� �� 	������ �� ���
G�����
���� .������ �����8 ���� )�� 
�� ���� �
� ��� ����������������� !���
.��
�������8 �.�� ���:� ��� ������������� ,������4����� 3��.��� .���������

��� ������

�� ������ %����� �1
��� �
� ��
� .�� ��� ����� .�������8 ��� ��� .�� ���
�������
�� ������ ��.��� �������� ��.��� 9��� .��������� ���� ���� ��.��
F���� 3���� ��� ,�
��8 ��� ��
� ����� ���� �����.����� 
�� 
�������� .����
�
���� '�� (������� �
� 
� �� ����� )�������
��� F��)��� �
� 7���
��
�� ���
%���
���)���������
�� �� 	������  �

���:.�� ����
� ����� �
� ����� 9����.������ �� '�����
� �:� ��� �
��
��.��������� 
�� �:� ���� #���
����� 
�� F���� .�� ��� (���
���������� ��4
��������
��� 3��.������ ��� ������
�1� ��.:��� ���.�������� �����4'���
��(�� $���� 
�� �����49���� $����� B�.��8 ��� ��
� .�� !����� �
 ,�$�H
���
���� ��� #�� 
�� $�� 
������:��� 
�� ��
� �
��� ��� 	������
������ �
�
?���:�
�� �������� ��.���

-��I�� ���� ���� ��
�� �
����� ������ ������8 ��� ��
� )������ ������
�������� %�
��
�� ����� 
������:��� 
�� ���1����� ��.���
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B�� .������� ��� ����� C
�����������
�� ��� )�
�������� ����������
���
-�
�������8 ��� )�� �:� 
����� )������� G�����

�
���� .��1������

��� ������ )����� )�� 
�� ��� ����������� 	
�����
����
�������� �
8
���.�������� ������������� )�� 
�� �
� 91���
�������8 ����� �������� �� ����4
���
��� 	���������� ���
��.���

����
� .�������� )�� ��� ��
���������� J������� ��� (����������� ��4
.���8 ��� #���� $�������������� 0�.�� ����� E.��.��
� :.�� ���� )�
�����4
��� ������
������ )����� )�� 
�� (�� ����� ����� %���
���)���������
�� 
��
��������� ��� ,������4����� #���� $�������������8 ��� ��� �
�������
���
�:� ��� E.�����
���� �� ��� 	������� � 
��  ����������

C
� %
��
�� ������� )�� �
����I��
� ��� '��� ��� �����������(�� '�(��4
��� (�� 
�� )����� ��� �
� ��� #���� $������������� �� !���� (����������
(����������� ����� ���

��� �������	
�����
������ �� n �����������

��� 	
�����
����
�������� ������� ��� J���������.���� (�� L2(Sn−1) ����
)�
����� #���� .�� ��� %���
���)���������
�� ��� #���� $�������������� !:�
(����������� ����� .��1���� ��� .�� ��� �
���������� 7���
��
���� �����4
��
� ���� J��������������4 .�)� J������������������������� .���� Sn−1� %�4
.��� ��� ����� >���
� �
� ��
� �:� ���� $�������� Sn−1

E � Sn−1 (��������8
(�������� ����� J��������������.�����
���� ���� -:�������� 
�� ��� .��1����
���� �������� ��������
��8 
� �����
� �
 ����� ����.��� �
 ��������8 (���
�.�
����� ����

'� ����������������� ��� ���
� ���� �������� ��������
�� )���.�������
'� !�������� ��.�� )�� �:� ��� ����������� n4������������� !��� �������4

����� ��������
���� �� ����� !��� ��8 ��� 
������ �������� 7��:��������
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��������� ���� ���:.�� ����
� )����� )�� �

� �����8 ���� ��� �:� n = 3 �
�
��� ����������� !��� �.���������� !������ �� B�������
��� ��� ��� ���.�4
������� ����������������� ��������
�� :.�������������

����� ���������

��� n������
���
��� ��������������������� Y (n) ���� �������� ��� ��� ���4
�
�����
�� ��������
���8 ��������� 3��&����� �
� C[x1, . . . , xn] �
� ���
�������������� Sn−1 := {x ∈ Rn| ‖x‖2 = 1}� %�� .����� ��� (������������
J����������&���� �� L2(Sn−1)� ��.�� ��.� �� �:� (n, l) �= (2, 0) >�)����

A(n, l) :=
(2l + n− 2)(n+ l − 3)!

l!(n− 2)!
= O(ln−2) .�)� A(2, 0) := 1

������ 
��.������� 	
�����
����
�������� (�� -��� l <�� @�A8 @��A8 @�+A=�
%������� �������� )�� �:� n = 2, 3, 4D

A(2, l) =

{
1 l = 0

2 l �= 0
, A(3, l) = 2l + 1, A(4, l) = (l + 1)2 <���=

'� )������� ?����
� .����
���� )�� ���� 	
�����
����
������ (�� -��� m
�� n ����������� ��� Y (n)

m �

����	 
��
����� ������

��� ��� 
������������

B�� )����� �
� ���� ������������ 7���� ��� n4������������� 	
�����
���4
�
�������� �������� �� �������
��� 	���������� ����.��� ���� )��� 
�� ������
�������� #�
��
���� ��� ���
��� 	
�����
����
�������� ���1���
����

'� !��� n = 2 ��� ��� �������������� S1 ������ ��� �������������� 9������
3��������������� ω(ϕ) =

(
cosϕ
sinϕ

)
, ϕ ∈ [0, 2π], ����� ��
� ���� J����������.����

�:� ��� 	
�����
����
�������� (�� -��� l ���������� ���

Y
(2)
lz (ϕ) := Y

(2)
lz (ω(ϕ)) :=

1√
2π

ezilϕ, z ∈ {±1}. <���=

!:� n ≥ 3 ��� �� ��
� @��A �1���
�8 ���� ��������� ��������
�� ��� Y (n)
m

���
���( ���
��.��D
B�� ��������� �:� m ≥ l ≥ 0 ��� !
��������

P
(n)
ml (t) := (−1)l(1 − t2)

l
2C

n−2
2

+l

m−l (t) , <�� =

����� �������� �	�
���� f ��� 
��� k ������� ��������������� f(λx) = λkf(x)� ���
�������� ��� ���� ��	������� ���	� ���� ����� ����� 
��������� k ����
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���� �� ������������� �	�������� /


�� ��� 0������
������������

c
(n)
ml :=

2l+
n−3

2√
π

Γ
(
l +

n

2
− 1

) √
(m+ n

2
− 1)(m− l)!

(m+ l + n− 3)!
, <��+=

)�.�� Cλ
m ��� -����.�
��43��&���� 
�� Γ ��� -����4!
������ .����
���

<(��� ������ �=� ����� �1���� )�� ���� J����������.���� �:� ��� 	
�����4

����
�������� (�� -��� m �� n ����������� ���
���( �
�
� ��� �������4

������ 	
�����
����
�������� �� n− 1 ����������� )�� ����� ���������D

Y
(n)
mlk1...kn−3z

(θ1, . . . , θn−2, ϕ)

:= Y
(n)
mlk1...kn−3z

(ω(n)(θ1, . . . , θn−2, ϕ))
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�4
��������� ������
������ �
�
� ��
����������
����� �
� L2(Ωn) :.��������
)������

��� �������� J������� �)��
��� F��.�����
��� ��� R ����� �������� ��4
>
�������� J�������D

��

� 	$�$+$
��� ��>
������� J������� R∗ ��� #���� $������������� ��� ����.�� �
�
�

R∗ : L2(Zn, w−1
n ) −→ L2(Ωn)

R∗g(x) =

∫
Sn−1

g(ω, xᵀω)w−1
n (xᵀω) dω

<����=


�� �.������� ��������

�����
� B�� ��.�� <���� @��A=

〈Rf, g〉L2(Zn,w−1
n ) =

∫
Sn−1

∫ 1

−1

Rf(ω, s) g(ω, s)w−1
n (s) ds dω

=

∫
Sn−1

∫ 1

−1

∫
Ωn

δ(s− xᵀω) f(x) dx g(ω, s)w−1
n (s) ds dω

=

∫
Sn−1

∫
Ωn

∫ 1

−1

δ(s− xᵀω) g(ω, s)w−1
n (s) ds f(x) dx dω

=

∫
Sn−1

∫
Ωn

g(ω, xᵀω)w−1
n (xᵀω) f(x) dx dω

=

∫
Ωn

f(x)

∫
Sn−1

g(ω, xᵀω)w−1
n (xᵀω) dw dx

= 〈f, R∗g〉L2(Ωn) .

��� 	���������� (�� R∗ ����� �
� ��� 	���������� (�� R 
�� ��� %���
(�� %
��
���8 <�� 7� @�*A8 '''�+�+=�
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���� �� ������������� �	�������� ��

��	�	 ��������� ��� �����������

�
� ��� -���
�
��

Rf(ω, s) =

∫
(sω+ω⊥)∩Ωn

f(y) dy

����� )���� (−ω)⊥ = ω⊥ 
�������.�� ��� %&���������������

Rf(ω, s) = Rf(−ω,−s) , <����=

)��
�� ��� #��
����� ��� ����� )�������������
'� F��.��
� �
� ��� ������� ��)���
�� ��� �����������(�� '�(�����

���� ���:.�� ����
� ��
� ��� '�(�������� (�� R∗ )�
����8 ����� )�� 
�� �
�
�
)����� )������

,�������������#������

B�� ����������� 
�� �� ��� 0������� (�� ����� @�A 
�� ��������� �:� x ∈ Ωn

��� $������������ T x1 8 T
x
2 �
� L2(Ωn) .�)� L2(Zn, w−1

n ) �
�
�

T x1 f(y) := 2−nf
(
y − x

2

)
, <���/=

T x2 g(ω, s) := 2−ng
(
ω,
s− xᵀω

2

)
w−1
n

(
s− xᵀω

2

)
wn(s) . <���*=

��� !����� 2−n ����� ��.�� ���:�8 ���� f 
�� T x1 f ��� ����
��� 9�����)���
��.��� '��.�������� ��� (T x1 eγ)γ>0 ���� 
� x ������������� ����
4!�����8 )���
(eγ)γ>0 ���� 
� 2 ������������� ����
4!���� ���8 �� �� �.�
����� �� ��� B��
�������� �
� ���

��

� 	$�$� <$�������������(������ (�� R∗=$
��� �������� J���������

T x1 : L2(Ωn) −→ L2(Ωn) ,

T x2 : L2(Zn, w−1
n ) −→ L2(Zn, w−1

n )

���� ������ 
�� ���:���� ��� #�������

T x1 R
∗ = R∗T x2 . <���"=

�&�� $����� ��� 6���� ,���!7������ -�$�  ""��8������� ��� ,����7,�����-	������
��!�� $����� ���������� ������������ 
9���� �� +� �� /02 ���� /0:2 ��!�������� $������



��
���� �� ������������� �	�������� ��

�����
� B�� ������ �
��
��� ��� .���
����� %���������8 .�(�� )�� <���"= .�4
)������
� !:� x, y ∈ Ωn ���� �

� y−x

2
∈ Ωn8 �� ���� T x1 f �:� f ∈ L2(Ωn) ����(���

�������� ���� B�������� ���

‖T x1 f‖2
L2(Ωn) =

∫
Ωn

2−2n|f((y − x)/2)|2 dy

= 2−n
∫
B 1

2
(−x

2
)

|f(u)|2 du

≤ 2−n
∫

Ωn

|f(u)|2 du = 2−n ‖f‖2
L2(Ωn) ,

)�.�� )�� ��� %
.����
���� u := y−x
2
8 dy = 2n du .��
��� ��.��� B
����������

������� ��� %��������� (�� T x1 �
�� F��� ������ )�� �
��
��� ����8 ���� �:� x ∈ Ωn8 ω ∈ Sn−1 
�� s ∈ [−1, 1]
)���� |〈x, ω〉| ≤ ‖x‖ ‖ω‖ = ‖x‖ < 1 �

�∣∣∣∣s− xᵀω

2

∣∣∣∣ ≤ 1 + ‖x‖
2

< 1 <-%


��.������ (�� ω ���� 
�� ����� ���.�������� ��� ��������� (�� T x2 g �:�
!
�������� �
� ��� ���������&������ %��� ��
��� ��� B������� ��.�� )��
�:� g ∈ L2(Zn, w−1

n )

‖T x2 g‖2
L2(Zn,w−1

n )

= 2−2n

∫
Sn−1

∫ 1

−1

∣∣∣∣g(ω, s− xᵀω
2

)∣∣∣∣2 w−2
n

(
s− xᵀω

2

)
wn(s) ds dω

≤ 2−2n+1

∫
Sn−1

∫ 1−xᵀω
2

−1−xᵀω
2

|g(ω, t)|2w−1
n (t)w−1

n (t) dt dω ,

)�.�� )�� wn(s) ≤ 1 �:� s ∈ [−1, 1] �
����
��� 
�� t := s−xᵀω
2

8 ds = 2 dt8
�
.����
���� ��.��� B���� <-= ��.� �� 
��.������ (�� ω ��� ε > 0 ���
[−1−xᵀω

2
, 1−xᵀω

2
] ⊆ [−1 + ε, 1− ε] =: I� �
� ��� ��������� '����(��� I ��� ���

!
������ w−1
n >���
� ������ 
�� ����� ���� ������. ��� 9����
� M ���

B�� �������

‖T x2 g‖2
L2(Zn,w−1

n ) ≤ 2−2n+1M

∫
Sn−1

∫ 1−xᵀω
2

−1−xᵀω
2

|g(ω, t)|2w−1
n (t) dt dω

≤ 2−2n+1M

∫
Sn−1

∫ 1

−1

|g(ω, t)|2w−1
n (t) dt dω

= 2−2n+1M ‖g‖2
L2(Zn,w−1

n )
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�� �������� ��
� B
���������� �
����I��
� ��� %��������� (�� T x2 �
��� B�� ��.�� <�� �� @�A=

T x1 R
∗g(y)

= 2−n
∫
Sn−1

g(ω,

(
y − x

2

)ᵀ
ω)w−1

n (

(
y − x

2

)ᵀ
ω) dω

=

∫
Sn−1

2−n g(ω,
(
yᵀω − xᵀω

2

)
)w−1

n

(
yᵀω − xᵀω

2

)
wn(y

ᵀω)w−1
n (yᵀω) dω

= R∗T x2 g(y) ,

)���� ����� .�)����� ����

.����������#������

%�� U ���� 
������ 9������ B�� ��������� ��� .����� #��������� DU
1 8 D

U
2 �:�

f ∈ L2(Ωn) .�)� g ∈ L2(Zn, w−1
n ) �
�
�

DU
1 f(y) := f(Uy) <���2=

DU
2 g(ω, s) := g(Uω, s) <����=


�� �������� ��� �
 ��� �
������ .���� ��� $���������� ��������

��

� 	$�$/ <#����������(������ (�� R∗=$
��� �������� J���������

DU
1 : L2(Ωn) −→ L2(Ωn) ,

DU
2 : L2(Zn, w−1

n ) −→ L2(Zn, w−1
n )

���� ������ 
�� ���:���� ��� #�������

DU
1 R

∗ = R∗DU
2 . <����=

�����
� � �� %���������
�� 
�� 0��� ��(������ 
���� 
������� $���������4
������ ����8 ���� UΩn = Ωn 
�� USn−1 = Sn−1� B���� |detU | = 1 ��������
)�� ������.

‖DU
1 f‖2

L2(Ωn) =

∫
Ωn

|f(Uy)|2 dy

=

∫
Ωn

|f(x)|2 dx = ‖f‖2
L2(Ωn)
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.�)�

‖DU
2 g‖2

L2(Zn,w−1
n ) =

∫
Sn−1

∫ 1

−1

|g(Uω, s)|2w−1
n (s) ds dω

=

∫
Sn−1

∫ 1

−1

|g(ω̃, s)|2w−1
n (s) ds dω̃ = ‖g‖2

L2(Zn,w−1
n ) ,


�� ����� ��������� ��� ������ $��� ��� 7���
��
���
�� B�� ��
���� ��
�8 ����

DU
1 R

∗g(y) =

∫
Sn−1

g(ω, (Uy)ᵀω)w−1
n ((Uy)ᵀω) dω

=

∫
Sn−1

g(ω, yᵀ(Uᵀω))w−1
n (yᵀ(Uᵀω)) dω

=

∫
Sn−1

g(U�, yᵀ�)w−1
n (yᵀ�) d�

= R∗DU
2 g(y)

����� ����� ��� ����� ��������

��	�� �����
�� ������
�����

��� %���
���)���������
�� ����� ��������� J������� ��� �������� ��� )�
�4
����� F���������� �
� G�����

�
�� ������ ������
������� %� ������ ��
� �� 7�
�
� ��� �.�����(�������� ��� %���
���)���� #:
��
��:��� �
� ��� -��� ���
%
���
�������������� ��� �������
������ ��(����� 3��.���� ������8 (��� @�/A�

B�� ��.�� �
� ��� %���
���)���������
�� ��� #���� $�������������
R : L2(Ωn) −→ L2(Zn, w−1

n ) ��8 )��
�� ������ �
� ����� .�� ��� 7�4
��
��
�� ��� �������
������ #�������
����������� .��1���� )��� <�.�
�����
�� ��= 
�� �
� ������� ��� -�
������ �:� ��� %BC ��� ,������4����� #����
$������������� .����� <�.�
������ ��� 
��  ��=�

��.�� .����
��� �� !�������� P (α, β)
m ��� 5�
�.�43��&���� (�� -��� m8

Cλ
m ��� -����.�
��43��&���� (�� -��� m 
�� Y (n)

lk1k2
��� 	
�����
����
��4

������ (�� -��� l8 (��� �.�
����� ����

���� 	$�$0 <0�������� %BC ��� #���� $�������������=$
%�� wn(s) := (1 − s2)

n−1
2 
��

d(n)
m :=

√
2n−1

π

m!
(
m+ n

2

)
Γ2

(
n
2

)
(m+ n− 1)!

.



��
���� �� ������������� �	�������� �"

B�� ������

v
(n)
mlk1k2

(x) :=
√

2m+ n |x|l P (0, l+ n−2
2

)

(m−l)/2 (2|x|2 − 1) Y
(n)
lk1k2

(x/|x|) ,
u

(n)
mlk1k2

(ω, s) := d(n)
m wn(s)C

n
2
m(s) Y

(n)
lk1k2

(ω)

��)��

σ
(n)
mlk1k2

:= 2
n
2 π

n−1
2

√
m!

(m+ n− 1)!

= σ(n)
m = O

(
m− (n−1)

2

)
.

���� .����� {v(n)
mlk1k2

, u
(n)
mlk1k2

; σ
(n)
m }, m ≥ 0, 0 ≤ l ≤ m8 m + l ������8

0 ≤ k1 ≤ l8 k2 = 1, . . . , A(n − 1, k1) ���� ��������� %���
���)���������
��
��� n4������������� #���� $������������� ��� J�������

R : L2(Ωn) −→ L2(Zn, w−1
n ) .

�����
� B�� ������

ṽ
(n)
mlk(x) = d̃(n)

m |x|l P (0, l+ n−2
2

)

(m−l)/2 (2|x|2 − 1) Y
(n)
lk (x/|x|) ,

ũ
(n)
mlk(ω, s) = wn(s)C

n
2
m(s) Y

(n)
lk (ω) ,

���

d̃(n)
m = 21−n π1−n/2 Γ(m+ n)

m! Γ
(
n
2

) .

B�� ����� �� @��A <$������  � �8 ,���� +� � 
�� ;�������& +�  = �����8 ����
���� ��� ṽ(n)

mlk <
����������= ������
�������� (�� R∗R8 .����� �:� m ≥ 08
0 ≤ l ≤ m8 m + l ������8 k = 1, . . . , A(n, l) ��� (������������8 ������������
%&���� (�� L2(Ωn) 
�� ���:���� ��� #�������

Rṽ
(n)
mlk = ũ

(n)
mlk .

����� .���.� �
� 7�)��� ��� 7���
��
�� �������
� ��� 0������
�� ��� ��4
����.���� !
�������� ��)�� ��� ������.��� B��� ��� ����
����� B���� σm
�
 (������������

�,��� $�� -�� ����� %&' ����� �	� ��� *�������������� 	�� #����������
��� ��� ���7
�	����� �	�
������ v �� #��-���	�� ��� ��� ;������� Rv = σu ��� *�������������� 	��
����"��!����� #����������
��� ��� ����	����� �	�
������ u�
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���� �� ������������� �	�������� �2

'� !�������� .����
���� )�� ��� .����.����8 �.�� ������ !
������������
ṽ

(n)
mlk, ũ

(n)
mlk 
�� ������ ��� .������� E.����
����
����� ���.�� ��� ����������4

.����
��
�� 
�� ��� '������ )���
�� R∗R ��� ������(�� J������� �
� ������8 ��
��������(� �����)���� ��� 
��
)�� 
�� �
� ������(� �����)���� .��
������� �1���� <)��� ṽ ������
������
(�� R∗R �
� �����)��� 08 ����.� ��
� )���� Kern(R∗R) = Kern(R) ���
B�������

� Rṽ = 0 �= ũ=8 �1���� )�� ��� ����� σ > 0 �
����.��D

R∗Rṽ = σ2ṽ

%����� )�� û := Rṽ/σ8 ����.� ��
�

Rṽ = σû = ũ ,

�� ���� )�� )����

‖û‖2 = 〈û, û〉 =
1

σ2
〈Rṽ, Rṽ〉 =

1

σ2
〈R∗Rṽ, ṽ〉 = 〈ṽ, ṽ〉 = ‖ṽ‖2

σ .���
���� �1���� ���

σ =
‖ũ‖
‖û‖ =

‖ũ‖
‖ṽ‖ .

B�� ��������

‖ũ‖2
L2(Zn,w−1

n )
=

∫ 1

−1

[C
n
2
m(s)]2wn(s) ds

∫
Sn−1

Y
(n)
lk Y

(n)
lk dSn−1︸ ︷︷ ︸

=1

=
21−n π Γ(m+ n)(
m+ n

2

)
Γ2

(
n
2

)
m!

, (��� <��/=,

��)��

‖ṽ‖2
L2(Ωn) = d̃2

m

∫
Ωn

|x|2l [P (0, l+ n−2
2

)

(m−l)/2 (2|x|2 − 1)]2 Y
(n)
lk (x/|x|) Y (n)

lk (x/|x|) dx

= d̃2
m

∫ 1

0

|r|2l+n−1 [P
(0, l+ n−2

2
)

(m−l)/2 (2r2 − 1)]2 dr <	
��������������=

= d̃2
m 2−(l+n/2+1)

∫ 1

−1

(1 + u)l+
n−2

2 [P
(0, l+ n−2

2
)

(m−l)/2 (u)]2 du ,

)�.�� �� ������� %
����� ��� %
.����
���� u := 2r2 − 1 �
����:��� )
�4
��� 0
���� )�� �
� ��
� ��� 0������
���������
���� ��� 5�
�.�43��&����
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<(��� <��+== �
�8 �������� )�� ���������

‖ṽ‖2
L2(Ωn) =

d̃2
m

2
(
m+ n

2

)
=

21−2n π2−n Γ2(m+ n)

m!2 Γ2
(
n
2

) (
m+ n

2

) .

��� ���������� !
��������

v :=
ṽ

‖ṽ‖
=

√
2m+ n |x|l P (0, l+ n−2

2
)

(m−l)/2 (2|x|2 − 1) Y
(n)
lk (x/|x|)

u :=
û

‖û‖ =
ũ

σ‖û‖ =
ũ

‖ũ‖

=

√
2n−1

π

m!
(
m+ n

2

)
Γ2

(
n
2

)
Γ(m+ n)

wn(s)C
n
2
m(s) Y

(n)
lk (ω) .


�� ��� %���
���)���

σ =
‖ũ‖
‖ṽ‖ = 2

n
2 π

n−1
2

√
m!

Γ(m+ n)

�������
��� ���� )���� Γ(k + 1) = k! (k ∈ N)8 (��� <���=8 ��� ����.�� ���
%����� 
�� ���:���� <.��
��� ‖ṽ‖ = ‖û‖= ��
� 	�����
����� Rv = σu�

!�
�� ����� 	$�$� <�
� '�������
�� ��� %BC=$
	% 0��:���
� )��� �� �

� �1���
�8 ����� �)���� '������ k1 
�� k2 �
� �����
'���� k �
 .��
����8 )�� )�� �� �

� �� 7�)��� ����� ��.��� ������ �:����
���� ��� B����.����
� 1, . . . , A(n, l) �
�
���
���� ���������� )��� k �����
�
� ��
� ��� ������ �.���������8 �� ���� ��� '���������� :.�� ��� L�)��4
��� -���M ��� �������
������ 	
�����
����
������ (������� ������ '� ���
%
����.)����

Y
(n)
lk1k2

= c
(n)
lk1
P

(n)
lk1

Y
(n−1)
k1k2

<(��� <���== �������� ��� ����8 ���� ��� ��������������������� 	
�����
���4
�
������ ��� -��� k18 0 ≤ k1 ≤ l ���� ���� )��� ���.�������� .�� ��� 	��4
���
����� ��� %���
���)���������
�� ��� ,������4����� #���� $���������4
���� ���� #���� �������8 �� �.�
����� ����
�% ��� 7�����
�� Lm+ l ������M �� �.���� '�������
�� ����� .�� ������ m �:�
l ��� B����

l =

{
0, 2, . . . , m m ������

1, 3, . . . , m m 
�������



��
���� �� ������������� �	�������� ��

�
8 l ������� ���� ����� �� C)�����
�������� '� F��.��
� �
� ��� )������ ?��4
)���
�� ��� %���
���)���������
�� ��� ����� ������
���� ���� ��������
�8 (���
7�����
�� ����� ����� ��� �� �)�
���I����8 (�� (��������� ��� ����� ���4
����
���� ����������� <�� �� 
������������= %���
���)���������
�� �
 ��.��4
���D
B�� �������� l �
�
�m−2l8 �� ���� �
� 0 ≤ l ≤ ⌊

m
2

⌋

�� 0 ≤ k1 ≤ m−2l �����

���:.�� ����
� )��� �� ��
� �.�� �.������� ��� ���)����� ��)�����8 ��� �)��4
��� '���� �� �.��������� (�� k1 ������� 
�������� �
 ����������� %
����.��
)�� �����
� 0 ≤ k1 ≤ m−2l �������
���� 
�8 �������� )�� 0 ≤ l ≤ ⌊

m−k1
2

⌋
8

��� 0 ≤ k1 ≤ m� '�������� ����.� ��
� ���� ��� %���
���)���������
��

{vm,m−2l,k1,k2, um,m−2l,k1,k2; σm} ,
m ≥ 0, 0 ≤ k1 ≤ m, 0 ≤ l ≤

⌊
m− k1

2

⌋
, k2 = 1, . . . , A(n− 1, k1) ,

��� )�� �

� �� !�������� .��
���� )������

B�� ������ ��
� �������� ����D

"������� 	$�$�$ ��� #���� $������������� R ��� ��>����(�

�����
� B�� .������ �� 7�)��� ��� %����� ��������� )��� �� @��A �������8
���� Kern(R)⊥ = span{ṽ(n)

mlk} = L2(Ωn) ����� �
�
� 7���
�� ��� ������������
	���������� ������ ��� ����
� Kern(R) = Kern(R) = L2(Ωn)⊥ = {0}8 ����
��� '�>����(���� (�� R�

�� )�� 
�� �� 	������  �������� ��� ��� ����������������� #���� $����4
��������� .��
�������� )�����8 ����
������ )�� ��� �
����� (�� %��� ����/
�:� ������ !��� ��
� ������ �� ����� ������������� !���� ��� G�����
����
.������ ��
����
���
� �����8 ���� )�� ��� �������
�� 0������� ��� 	
�����4

����
�������� ����I <���2N= (��)������

"������� 	$�$	1$
%�� R : L2(Ω3) → L2(Z3, w−1) ��� ���������������� #���� $�������������

�� w(s) := (1 − s2)� B�������� �����

vmlk(x) :=
√

2m+ 3 |x|l P (0,l+1/2)
(m−l)/2 (2|x|2 − 1) Y k

l (x/|x|) ,

umlk(ω, s) :=

√
m+ 3/2

(m+ 1)(m+ 2)
w(s)C3/2

m (s) Y k
l (ω) ,

σm :=
23/2π√

(m+ 1)(m+ 2)
= O (

m−1
)
.



��
���� �� ������������� �	�������� � 

���� ���� {vmlk, umlk; σm}8 m ≥ 08 0 ≤ l ≤ m8 m + l ������8 |k| ≤ l8 
��
{vm,m−2l,k, um,m−2l,k; σm}8 m ≥ 08 0 ≤ l ≤ ⌊

m
2

⌋
8 0 ≤ |k| ≤ m − 2l8 <.�)�

m ≥ 08 |k| ≤ m8 0 ≤ l ≤ �m−|k|
2

�= ��������� ����
���� %&����� (�� R�

��	�! "������ #��
�

C
� �.�
��
�� ��������� )�� ��
� ��� ���������� ,������4����� #����
$������������� <,�4#$= 
�� ��.�� ����� �
���� E.��.��
� :.�� ���� ��4
����
������� G� ��� G�����
���� ��
���
� �
 ��
���8 )����� )�� ��� ��4
)1����
�� #���� $������������� (�� �
� �� ���� �

� ��� !
��4���� #����
$������������� <!�4#$= ���� (����������� #���� $������������� .����
�4
����

��*������

%�� �
��
��� Sn−1
E ⊆ Sn−1 ���� $�������� ��� ��������������� '� ��������

��������� !����� )��� Sn−1
E ��.�� �
� -�
�� ��� #��
����� ��� ����� <(���

<����== �
����&�������
� �
� G����
�� ����8 ���� ��� ���� >���
� ��
� 
�4
����.��
�� �������
���� ������ B���������
�����
�� ��������� )�� ��� ���4
���
�������� ���������&������ ���

Zn
E := Sn−1

E × [−1, 1] ,


�� �1���� �
� ����������D

��*������ 	$�$		$
��� J�������

RE : L2(Ωn) −→ L2(Zn
E , w

−1
n )

f �−→ Rf |Zn
E

���I� 
��������� !�������"���� �
��� ��
�
����
�����

�.���� )�� ��� (����������� #���� $������������� R ��� �

� RE ���
��������� J�������� G� ���� ����
�����8 .����
���� )�� ��� #�����������4
��������

PE : L2(Zn, w−1
n ) −→ L2(Zn

E, w
−1
n )

g �−→ g|Zn
E

��� �
� -�
�� (�� ‖g‖L2(Zn
E ,w

−1
n ) ≤ ‖g‖L2(Zn,w−1

n ) ������ ���� J6����
����
� ����
RE = PER8 ���� ��� RE ��� 	���������� ����� ��������� 
�� ����� ��������
J�������� ���.�� )����� ������� <@�*A8 ''� ��=�



��
���� �� ������������� �	�������� �+

��2��������� 3�������

�
�
� ���� #�
��
�� ������ �
 ��� �� 7�)��� (�� ,���� ����+ �������� )��
��� ��>
�������� J�������

R∗
E : L2(Zn

E , w
−1
n ) −→ L2(Ωn)

R∗
Eg(x) =

∫
Sn−1

E

g(ω, xᵀω)w−1
n (xᵀω) dω .

<��� =

�4

����� ��� 5�#��������

!���� Sn−1
E �
����&�������
� �
� G����
�� ���8 .���.� ��� %&������� ���

#���� $������������� �

� �� ,������4����� !��� �������� 
�� �� ����

REf(−ω,−s) = REf(ω, s) . <���+=

��� 7�)��� ��� $�������������(������ (�� R∗ <,���� �����= ����� ��
� ����
�
 ���� �
� R∗

E :.��������8 ��� �
�� �������
� Sn−1 �
�
� Sn−1
E ���������

!�����
� ����

T x1 R
∗
E = R∗

ET
x
2 . <����=

F������� �
��� ��� 7�)��� (�� ,���� ����� �
�8 ���� Sn−1 ��(������

���� .����.���� ����
���� 
�� %������
���� ���� ���� ��� �:� Sn−1

E ��
��
���� ���:���8 ���� �:� .����.��� 
������ 9������� U ���� ��
�� 
�.������
USn−1

E = Sn−1
E � ����������
���� ���� �:� R∗

E ����� #����������(������ ��4
����� )�����8 �� ����� ���� ����

DU
1 R

∗
E �= R∗

ED
U
2 . <����=

��� ��� ������������� �������

��� #���� $������������� ���� ��� ��������� J������� ��� 
������
���4
����������� 7�����
� ����� ������� '�(���� .������� <(��� @�*A=� !�����
� ���
��� 3��.���8 �
 ����.���� ����� g ���� ,1�
�� f ��� Rf = g �
 �����8
�
���
�� ��������8 )�� ��� ������� (�� #��
��������
���(�������� ���)�����
��
���

'� #����� ������ ��.��� )����� )�� �����
 ��� �����������(� '�(����
�����������8 ��� )�� �
��
��� �
�� (��������� )������ ��.�� ����������� )��

�� �� @�*A8 )� �

� )������ ������������ ��
�������� )����� �1����� ����
����&�� ��� #��
��������
���������
������ ��� �����������(�� '�(���� ��4
��� ��� �� @�2A 
�� @�"A�
���
����I��� ������ )�� ��� F���� ��� �����������(�� '�(����� ���� #����4
���
������������ �:� ��� n4������������ #���� $������������� �� !��� (���4
��������� ����� ����



��
���� �� ������������� �	�������� ��

����� $����
����

'� ������ 
�� �� ��
����� �.�
����� .����
��� A : X −→ Y ����� ��������8
��������� J������� �)��
��� �)�� F��.�����
��� X 
�� Y ��� �
���1�����
%���
���)���������
�� {vn, un; σn}8 n ≥ 0� G���� C��� ��� ��8 ��� -���
�
��
Af = g �
 �1����

"������ ��� �����6�
���#�� 5�#�����

��� '��� ��� �����������(�� '�(����� .������ �����8 ��� F���� ����� ����4
������� #����$��
 eγ <��.�� ��� γ > 0 ��� �
���1���� �����
��
������
	
�
�
�����= ���� ���������� ?������ fγ = 〈f, eγ〉 ��� <(����������������= ,1�
��
f �
 .��������� ���
�
� )��� ��� ����
�� ��� ��
����O
����� 
�� �����
.�������� ���������������� ������� ��� ,1�
�� ����������

!�
�� ��� 	$�$	$ 5� ��
� B��� ��� 9�������� eγ ���� fγ ���� 
�����
����4
��
�� ��������������������
������ .������� 
�� �� 7� �

� �.����
���� (��
f ������������� <�� @�*A=� !:� 
����� C)�
��8 �� �� �
� ������������� (�� f
���.��8 ���� ��� >���
� :.��
���)���� ��(�� �
�8 ���� ��� (��)������� 9��4
����� ���� ����
4!���� (eγ)γ>0 .������ ������������ �����
 ����� ��� ��7� ��
@�A ���� @�/A�

'� ��� .��������� !��� ��� fγ ���� 	������� ��� ,1�
�� f ������
� ��
�
��
�� .���
���.��� ��� �
�)�� .������ �����8 ��� F�������.���

A∗ψγ = eγ <���/=

�
 �1���� ��.�� )��� ψγ ��� �����
��������
���� .����
����� ���� ����

fγ = 〈f, eγ〉X = 〈f, A∗ψγ〉X = 〈Af, ψγ〉Y = 〈g, ψγ〉Y =: Sγg ,

��� ���������� ,1�
�� ����.� ��
� ���� ��� %���������
�� ��� ����� ��� ���
(�� ��� ����� 
��.������ .���
���.���� #�������
����������� ����� ��4
.�� )�� ��� ,1�
�� (�� Af = g �
� ��� ,1�
�� (�� A∗ψγ = eγ �
�:
����:����

��� ?������ ��� �����������(�� '�(����� ����� �����8 ���� )�� ��� ��
���
%���� eγ �������� <�� 7� .����.�� �����= )����� �1���� 
�� ���
�
� �
���
����� ������8 )�� �
� ��� ���������� 
�� ����� ������.��������� ����� g
���:���
� ��
�� �
���6��

!:� eγ �∈ Bild(A∗) ��� <���/= ����� ,1�
��� ���������� �1���� )�� �
4
������� �:� ��� !��� eγ ∈ Bild(A∗) ⊕ Bild(A∗)⊥ = D(A∗+) ������� ��� 3��
4
����(����� A∗+ ��
� ���� (��������������� ,1�
�� .��������� '���� )��
A∗+ 
���� ?��)���
�� ��� %BC (�� A∗ ��� #���� �
�)����� <(��� @�/A8 @� A=8



��
���� �� ������������� �	�������� ��

�������� )�� ��� ��������
��

ψγ = A∗+eγ =
∑
σn>0

σ−1
n 〈eγ, vn〉 un <���*=

�:� ��� #�������
����������� '� !�������� )����� )�� ����� eγ ∈ Bild(A∗)
���������

!�
�� ��� 	$�$�$
��� 7�����
�� eγ ∈ Bild(A∗) .������ ��
� ��� 3�
���4	������
� <�� @�/A= ���
	��(������ ��� #���� �� <���*= 
�� )��� 
�� ��� !���
����
�� (�� ,����
�� � (�������
���� %�� ���� ��� ���� -���������.����
�� �� ��� 9������� eγ
�
�������� )�����8 (��� @�"A� ���������� ���
�� ��� ��
�� �
�8 
� 
�� ������ ���
91���
����� ����� �
���)����� �
�)���
�� (�� fγ �
 ������������ F����:�
�:���� eγ ����� ��������� -�����������������
�� ���:����

B�� �1���� �� #����� ������ ��.��� �
� ������ $������������ ��
��
)����� ��������� #���(��� ��� �:� 
�� ��� !���8 ���� X 
�� Y !
��������4
��
�� ����� ���� �1���� )�� ��� 3��.��� 
������8 ����� )�� .�� ���
!���
����
�� ��� �������
������ ����.����� ��� �����
����� ���.�� ����
�
eγ ∈ Bild(A∗) ∩ C∞ (���
�������� ���� ��� �������
� ���� ���������
�� ���4
�
�����
��P �� ��� 3����� )����� ����� ������� C∞49������� .��
���8 (���
@�A�

��������� #�� 5�#��������

��� #�������
���������� �
�� .������ �:� >���� #�������
�������
��� x .�4
��
���� )�����8 )�� �
����.�� ����� �������� ψγ(x, ·) �:� ��� ,1�
�� (��
A∗ψγ(x, ·) = eγ(x, ·)� ����� #�������
����������� �1���� 
��.������ (��
��� ����� (��.���
���� )�����8 ��� .��1����� #�
������� ����� ���� ��
�� ���
-�)�
��� ���������� ���� ��
� ��� .��1����� %���
�������� �
 ����� 3��.���
���)�
����� %��� )�� >���
� .�����8 �:� (���
������� #�������
�������
����
x L����
�������M 9������� eγ(x, ·) �
 .��
����8 �1���� )�� ��� %���
���.�����
���
������8 ����� )�� 
�� �(���
���� '�(�������� ��� J�������� A �
 0
���
��
���� ��� -�
������ ���
 ������� �������� 7��.�
��
��D

��

� 	$�$�$
!:� ��� J��������� A ∈ L(X, Y )8 T1 ∈ L(X) 
�� T2 ∈ L(Y ) �����

T1A
∗ = A∗T2 ,

�
��� ��� Eγ ��� 9������� �
� Bild(A∗) 
�� Ψγ ��� �������
����� #����4
���
����������8 ���� �� ����� A∗Ψγ = Eγ � B����� )�� ����� )������� 9�������
eγ ���

eγ = T1Eγ ,



��
���� �� ������������� �	�������� �/

�� )��� ��� �������
����� -���
�
�� A∗ψγ = eγ �
�
�

ψγ = T2Ψγ

���1���

�����
� �� ���� ����

A∗ψγ = A∗T2Ψγ = T1A
∗Ψγ = T1Eγ = eγ .

B����� )�� ���� �� 7� �� !���� ����� $�������������(������ �
� #�������
�4
���� �� ��� %����� x ��� 9������� eγ(x, ·) ��� $���������� ����� 9�������� Eγ8
����.� ��
� �

� ��� ������
����� #�������
���������� ψγ(x, ·) ��� $��������4
�� ��� #�������
����������� Ψγ 8 
�� �
� Ψγ �
�� �.������
���� )������ 5�
���� '�(�������� ��� �
��
���� ����8 ����� ���� %���
�������� ����� ��
�
�
� ����� B���� ����������

����	 ��� #������������ ������� ��� %���� &�������'

������ (�� ��

��������� �����

0
� )����� )�� ��� �����������(� '�(���� �
� ��� #���� $������������� ���
��.�� .�������� )�� �
��
��� �:� ����� ����������&�������
��� 9������� eγ
���� ,1�
�� (�� R∗ψγ = eγ � 9�� ������ ������ )�� ���� �
�
� �
��
���� ���
$�������������(������ ��� #���� $������������� ���� !����� �:� fγ(x) ����

�7��� #�� R∗ψγ = eγ

7�� (������������ ����� ���� ��� ��� #�������
���������� ��� ����� ?��4
)������
��
�� �
� Reγ .�������� <(��� @�A=8 ����� ��� ��� ��������� %��
�4
�
� ��� '�(������������� ��� !�4#$ �
��
���� 7�� ������
�������� B�����4
����� �������� ��� ���� ��
�� ���� �1���
�8 �� .������ ��
� ����� '�(�������4
������ �:� ��� ,�4#$ .������ ���� �������
����� ����.����� )���� ���� ��
��
(������
�.��� ������. )����� )�� 
�� �
� ��� �)���� 91���
����� .��
�������

�� ��� ,1�
�� (�� R∗ψγ = eγ ����I <���*= ��� F���� ��� %���
���)������4
���
�� .���������

%�� ���� eγ ∈ Bild(R∗) ��� ����������&�������
��� 9�������8 �� �� �� �����
eγ(y) = eγ(|y|) ���� ������ �
�����:
�� eγ = DU

1 eγ �:� >��� 
������ 9�����
U � 0�
� ��� ,������ ����� 
�� �� � ���� ���� �

�

ψγ(ω, s) = DU
2 ψγ(ω, s) = ψγ(Uω, s) ∀ U ∈ O(n) ,



��
���� �� ������������� �	�������� �*

)�� ������

ψγ(ω, s) = ψγ(s)

����������� ��� #���������&������� ��� 9�������� :.������� ��
� ���� �
� ���
#�������
�����������

���� ������ ��
� ���:���
� �

� 
��.������ (�� �.���� E.�����
�� ������
�
� ��� ��������� #�
��
�� ����.��� B�� .�������8 ����� )�� ��� %BC ���
#���� $������������� �� <���*= ���������� ���� �������� )��

ψγ(ω, s)

=

∞∑
m=0

m∑
k1=0

�m−k1
2

�∑
l=0

A(n−1,k1)∑
k2=1

σ−1
m 〈eγ , vm,m−2l,k1,k2〉L2(Ωn) um,m−2l,k1,k2(ω, s) .

B���� ��� #���������&������� ��� 9�������� eγ �������� )�� �
�
� ����:����
(�� 	
��������������

〈eγ , vm,m−2l,k1,k2〉L2(Ωn)

=

∫ 1

0

eγ(r)
√

2m+ n rm−2l+n−1 P
(0,m−2l+n/2−1)
l (2r2 − 1) dr

×
∫
Sn−1

Y
(n)
m−2l,k1,k2

dSn−1 .

0
���� )�� ��� J���������������������� ��� 	
�����
����
�������� �
�8 ��4
������ )�� <Y (n)

0 ��� ��������8 (��� 7�����
�� �����=∫
Sn−1

Y
(n)
m−2l,k1,k2

dSn−1 =
1

Y
(n)
0

∫
Sn−1

Y
(n)
m−2l,k1,k2

Y
(n)
0 dSn−1

=
1

Y
(n)
0

δm−2l,0 .

��� %���������
�� ������� ���� �
� �:� m = 2l ����� 7������8 �� �� m �
��
������ ���� 
�� l = m

2
������� ,�������� .������ �.�� k1 = 0� �
� -�
�� (��

A(n− 1, 0) = 1 ����.� ��
� �
����I��
�D

ψγ(ω, s) =

∞∑
m=0,

m ������

σ−1
m 〈eγ , vm,0,0,1〉L2(Ωn) um,0,0,1(ω, s) <���"=

=

∞∑
m=0

σ−1
2m 〈eγ, v2m,0,0,1〉L2(Ωn) u2m,0,0,1(ω, s) <�� 2=



��
���� �� ������������� �	�������� �"

B���� 〈eγ, v2m,0,0,1〉L2(Ωn) = σ−1
2m 〈Reγ , u2m,0,0,1〉L2(Zn,w−1

n ) ��.�� )�� �
� ��
B�������
��� �)�� 91���
�������8 ��� �
���

� )����� �
 (�������
���� B��4

��� ?������� ��� ������ �� ��������� !��� ��� ?���
� ��.�8 )��� ��(��
�.������8 )��
��� %���������
�� ��
� .����� ������������� ����� ���� ��� ��
����� ���
��������� !����� ����&���
� �
���)����� )����� ���� <(��� ���

@�2A=�

%� &
��
���' B�� ��.�� .�� �
� ��������� ��� ��������� B���� .������
�������8 ����

〈eγ, v2m,0,0,1〉L2(Ωn) =

√
4m+ n

Y
(n)
0

∫ 1

0

eγ(r) r
n−1 P (0,n/2−1)

m (2r2 − 1) dr

����� B�� ������

Ĩ(n)
m,γ :=

∫ 1

0

eγ(r) r
n−1P (0,n/2−1)

m (2r2 − 1) dr .

7��
���� )�� �
� ��
�8 ���� u2m,0,0,1(ω, s) = d2mC
n
2
2m(s)wn(s) Y

(n)
0 (ω) )����

Y
(n)
0 (ω) = |Sn−1|−1/2 ��
�� (�� ω �.�����8 �������� )�� ��� C)��
�������.���

ψγ(s) =

∞∑
m=0

σ−1
2m

√
4m+ n Ĩ(n)

m,γ d2mC
n
2
2m(s)wn(s) .

��� #�������
���������� ��)���� ��
� ���� )�� ��)����� ��� ����������&���4
����
�� ��� �� ��� 7���
��
�� ��� #�������
����������� �
���

������ 	��4
������� ������ ��
� (�������
��� �


σ−1
2m

√
4m+ n d2m

=

√
(2m+ n− 1)!

(2m)! πn−1 2n
2
√
m+ n/4

√
2n−1

π

(2m)! 2(m+ n/4)

(2m+ n− 1)!
Γ
(n

2

)
=

2 Γ
(
n
2

)
πn/2

(m+ n/4)

= 4 |Sn−1|−1
(m+ n/4) , (��� <7�*=8 <�� �=

�� ���� ��
� �
��
�������
�

ψγ(s) =
4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n
2
2m(s)wn(s)

����.��



��
���� �� ������������� �	��������  2

(� &
��
���' F��� ��.�� )��

〈eγ, v2m,0,0,1〉L2(Ωn) = σ−1
2m〈eγ, R∗u2m,0,0,1〉L2(Ωn)

= σ−1
2m〈Reγ, u2m,0,0,1〉L2(Zn,w−1

n ) .

0�
� ?���
�����
�� ��� ��� 9������� eγ ����������&�������
�� !�����
� �����
����� #���� $������������� Reγ �
� (�� s 
�� ��
�� (�� ω �. 
�� )��
��������

〈eγ, v2m,0,0,1〉L2(Ωn)

= σ−1
2m

∫
Sn−1

Y
(n)
0 dSn−1︸ ︷︷ ︸

=Y
(n)
0

−1

∫ 1

−1

Reγ(s) d2mC
n
2
2m(s)wn(s)w

−1
n (s) ds .

!:� Reγ ���
����� ��
� Rf(−ω,−s) = Rf(ω, s) �
� -�
�� ��� B�����
��.4

���������� �
� Reγ(−s) = Reγ(s)P Reγ ��� ���� ������� �� �

� C
n
2
2m ������

��� <�� <��*==8 ����∫ 1

−1

Reγ(s)C
n
2
2m(s) ds = 2

∫ 1

0

Reγ(s)C
n
2
2m(s) ds .

B�� �:���� �

� ���� ��� �
��������� '������� �. 
�� ������

I
(n)
2m,γ :=

∫ 1

0

Reγ(s)C
n
2
2m(s) ds.

����� �������� )�� ��� C)��
�������.���

ψγ(s) = 2

∞∑
m=0

σ−2
2m I

(n)
2m,γ d

2
2mC

n
2
2m(s)wn(s) .

��� 	��������� (�������
��� ��
� ���� �


2 σ−2
2m d

2
2m = 2

(2m+ n− 1)!

(2m)! πn−1 2n
2n−1

π

(2m)! 2(m+ n/4)Γ2
(
n
2

)
(2m+ n− 1)!

= 2
Γ2

(
n
2

)
πn

(m+ n/4)

= 8 |Sn−1|−2 (m+ n/4) , (��� <7�*=8 <�� �=

�� ���� ��
� ���������

ψγ(s) =
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n
2
2m(s)wn(s)
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����.��
B�� ������ ��� ����.����� ��� E.����
����
����� ���.�� �
������ �� ���4

������

��

� 	$�$+$
!:� ����� ����������&�������
��� 9������� eγ ∈ Bild(R∗) ����� ��
� ��� #�4
������
���������� ψγ <�� �� ��� ,1�
�� (�� R∗ψγ = eγ= ���������� ���

ψγ(s) =
4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n
2
2m(s)wn(s) <��  =

.�)� ψγ(s) =
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n
2
2m(s)wn(s) , <�� +=

)�.�� Ĩ(n)
m,γ 
�� I(n)

2m,γ �������� ���� ���

Ĩ(n)
m,γ :=

∫ 1

0

eγ(r)P
(0,n/2−1)
m (2r2 − 1) rn−1 dr <�� �=

I
(n)
2m,γ :=

∫ 1

0

Reγ(s)C
n
2
2m(s) ds . <�� �=

!�������� 	$�$�$
!:� ��� �� ��� 3����� ����(����� %����������� n = 2, 3, 4 �������� )�� �
�
�
���������D

<�= n = 2D �� ����.� ��
�

ψγ(s) =
2

π

∞∑
m=0

(m+ 1/2) Ĩ(2)
m,γ U2m(s)w2(s)

��� Ĩ(2)
m,γ =

∫ 1

0

eγ(r)Pm(2r2 − 1) r dr ,

<�� /=

��)��

ψγ(s) =
2

π2

∞∑
m=0

(m+ 1/2) I
(2)
2m,γ U2m(s)w2(s)

��� I
(2)
2m,γ =

∫ 1

0

Reγ(s)U2m(s) ds ,

<�� *=



��
���� �� ������������� �	��������  �

)�.�� Um ��� �
����)
���*�+��)���� (� "�� .����
���8 �� ������ ����
��������
�� <�� /= �������
�� ��� (�� ����� �� @�2A8 )��� ��� .��
�4
���8 ���� ���� α2m ��
� ��� !����� (2(2m + 1))1/2 �������� �������
�������
�� <�� *= ������ ��� (�� ����� ������.���� !����� <�� @�A8
	������� �� ����=�

<��= n = 3D F��� �������� )��D

ψγ(s) =
1

π

∞∑
m=0

(m+ 3/4) Ĩ(3)
m,γ C

3
2
2m(s)w3(s)

��� Ĩ(3)
m,γ =

∫ 1

0

eγ(r)P
(0,1/2)
m (2r2 − 1) r2 dr ,

<�� "=

��)��

ψγ(s) =
1

2π2

∞∑
m=0

(m+ 3/4) I
(3)
2m,γ C

3
2
2m(s)w3(s)

��� I
(3)
2m,γ =

∫ 1

0

Reγ(s)C
3
2
2m(s) ds ;

<��+2=

<��+2= �������
�� ��.�� )����� @�A8 	������� �� ���.�

<���= n = 4 ����.� �
����I��
�D

ψγ(s) =
2

π2

∞∑
m=0

(m+ 1) Ĩ(4)
m,γ C

2
2m(s)w4(s)

��� Ĩ(4)
m,γ =

∫ 1

0

eγ(r)P
(0,1)
m (2r2 − 1) r3 dr ,

<��+�=

��)��

ψγ(s) =
1

π4

∞∑
m=0

(m+ 1) I
(4)
2m,γ C

2
2m(s)w4(s)

��� I
(4)
2m,γ =

∫ 1

0

Reγ(s)C
2
2m(s) ds .

<��+�=



��
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.� ������ �����)��
��

-���� )�� �
� ��(�� �
�8 ���� )�� )�� �.�� ����������� ����� <���������4
�&�������
���= #�������
���������� ψ0

γ �:� ����� ����������&�������
���
9������� e0γ ∈ Bild(R∗) ∩ C∞(Ωn) .������� ��.��� G� ��
� ��� $������4
�������(������ ��� #���� $������������� �
��
���� �
 �1����8 ���������
)�� ��� ��� 7����
��
���� �
� �.�
����� ����� ��� 9������� eγ(x, ·) �:� ���
#�������
����� �� ��� %����� x ∈ Ωn ���

eγ(x, ·) := T x1 e
0
γ . <��+ =

��� ,������ ����� 
�� �� � ������� ����8 ����

ψγ(x;ω, s) = T x2 ψ
0
γ(s) <��++=

= 2−n ψ0
γ

(
s− xᵀω

2

)
w−1
n

(
s− xᵀω

2

)
wn(s) <��+�=

��� -���
�
�� R∗ψγ(x; ·) = eγ(x, ·) �1��� ��� #�������
������������ ����.�
��
� �
� �
� ��� %���������
�� ��� ����� g 
�� ψγ(x; ·)D

fγ(x) = 〈g, ψγ(x; ·)〉L2(Zn,w−1
n )

=

∫
Sn−1

∫ 1

−1

g(ω, s)ψγ(x;ω, s)w
−1
n (s) ds dω

= 2−n
∫
Sn−1

∫ 1

−1

g(ω, s)ψ0
γ

(
s− xᵀω

2

)
w−1
n

(
s− xᵀω

2

)
ds dω .

�� ψ0
γ ��� !����� wn .��������� <(��� ,���� �� �+=8 �������� )�� ���

ψ̃0
γ(s) :=

4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n
2
2m(s) <��+�=

=
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n
2
2m(s) , <��+/=

��� ��������
��

fγ(x) = 2−n
∫
Sn−1

∫ 1

−1

g(ω, s) ψ̃0
γ

(
s− xᵀω

2

)
ds dω . <��+*=

��������� )�� �
� ��
�

Sn−1
+ := {ω ∈ Sn−1 |ωn > 0} <��+"=

.�)� Sn−1
− := {ω ∈ Sn−1 |ωn < 0} , <���2=



��
���� �� ������������� �	��������  +

����� )��8 ����∫
Sn−1
−

∫ 1

−1

g(ω, s) ψ̃0
γ

(
s− xᵀω

2

)
ds dω

=

∫
Sn−1

+

∫ 1

−1

g(−ω, s) ψ̃0
γ

(
s+ xᵀω

2

)
ds dω

=

∫
Sn−1

+

∫ 1

−1

g(−ω,−s) ψ̃0
γ

(−(s− xᵀω)

2

)
ds dω

=

∫
Sn−1

+

∫ 1

−1

g(ω, s) ψ̃0
γ

(
s− xᵀω

2

)
ds dω

����8 )�.�� )�� �� ������� %
����� ��� #��
����� ��� ����� 
�� ��� ������
3������ (�� ψ̃0

γ �
����
��� ��.��� ���� �1���� )�� 
�� �
� ��� '����������
:.�� ��� J.����
�� ����� 	
��������� .��
������� 
�� ��������

fγ(x) = 21−n
∫
Sn−1

+

∫ 1

−1

g(ω, s) ψ̃0
γ

(
s− xᵀω

2

)
ds dω .

����� ��.�� )�� �������D

���� 	$�$/$
%�� e0γ ∈ Bild(R∗)∩C∞(Ωn) ��� ����������&�������
��� 9������� 
�� ψ̃0

γ ���
�
���1���� #�������
���������� ����I <��+�=� !:� ��� �
� #�������
�����
�� ��� %����� x .��
����� 9������� ����� eγ(x, ·) = T x1 e

0
γ�

���� ����� ��
� ��� �����������(� '�(���� Sγ ��� #���� $�������������
�� ��� !���

Sγg(x) = fγ(x) = 21−n
∫
Sn−1

+

∫ 1

−1

g(ω, s) ψ̃0
γ

(
s− xᵀω

2

)
ds dω <����=

�����������
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#	�	���$��
�� 	� n �	����	����

�
�������
��� �:� ��� G�����

�
���� �� ������ 	������ )�� 
����:����
�
��� !��� ��� ����������������� ,������4����� #���� $�������������8 .�� ���
��� ����� .���� ��� B�����(����.��� θ ������
������ ����� 7��� )
��� >���
�
����8 ���� ��
� ������ !��� ������( ���.������ �
� n ����������� (����������4
���� �����8 �� ���� )�� �
� �
��
��� ��� 3��.��� �� ������ �������������
.����
���� )����� 
�� ��� �������
������ ����.����� �� ���� �:� n = 3

�� n = 4 �������������� )������

��� �� ��������

B�� ������ ��8 ���� ��� ����� g(ω, s) �������
� .���� ��� B�����(����.��� θ1
������
������ ����8 ���� (�������� ���� �:� ���� (ω, s) ∈ Zn

ϑ 8 n ≥ 38 )�.��

Zn
ϑ := Sn−1

ϑ × [−1, 1] , ϑ ∈ [0, π/2] , <���=

���� 
�� Sn−1
ϑ �������� ��� ���

Sn−1
ϑ :=

{
ω(θ1, . . . , θn−2, ϕ) ∈ Sn−1

∣∣∣ θ1 ∈ [π
2
− ϑ,

π

2
+ ϑ

]}
. <���=

5� ������� ϑ ���8 ����� ���� ����� ������ �����
��� �������
����� ��������� ,������4����� #���� $������������� .�4

���
���� )�� ��� <n ≥ 3=

Rϑ : L2(Ωn) −→ L2(Zn
ϑ , w

−1
n ) , <�� =


�� ������ Rϑ ��� θ1�!�������"���� �
��� ��
�
����
���� <θ14,�4#$=�

!�
�� ����� �$	$	 <%��
��
� ��� ��������� �����=$
	% ��� %&������� ��� ��������� �����.����
�� 
� π

2
��� ���� C
����8 �������

 �



��
���� �� ������������� �� N �����������  �

����� ���)����� 
�� �������
�� ��� .������ �� �.�
����� ����+ ��������
��4
��� 3
����&������� ��� B�����(������
��D
���� )���� Rf(−ω,−s) = Rf(ω, s) <#��
����� ��� �����8 �� <����== 
��
��� ��������� ?�������������� ��� ����� )���� 
��&�������
�� ������:
���
<�� �� ���
��8 �:� ��� �)�� ��
�� ��� ����� g(ω, ·)8 )��� �.�� ��� �������
���4
��� g(−ω, ·) (�������� )����= �
� �
����.��� 
�� �1����� �
�
� ��� :.�����
����� ���:��� )�����8 (��� �

� ,���� 7�����
�% ���� ������ 91���
����� )��� ���
������8 ���� ��� ����� �:� θ1 ��[
π
2
− ϑ, π

2
+ ϑ

]
������ 
�� ��

[
0, π

2
− ϑ

[∪]π
2

+ ϑ, π
]
(�������� ����� '� ������

!��� ):���� ��� )�
������� ϑ ���� ����� ������� �.������� (�� ��� 
����4
�
������
��� '������������� (�� ϑ ���� ��� ��������� �
�)���
���� �
I����
������8 (��� 7�����
�� ����� 
�� ��� 7�)��� (�� 	������� ����+�

��� !�������"���#��������

'� ������ �.�
����� )����� )�� ��� %BC ��� �.�� ���������� ,������4�����
#���� $������������� Rϑ .��������� ����� )��� 
�� ����
.��8 ��� J����4
�������
�
�� R∗

ϑψγ = eγ �
� 7������
�� ��� #�������
����������� ψγ �
�
�
�
�)����� ��� 3��
����(����� R∗+

ϑ �
 �1���� ��� .�� ��� !�4#$ �1���
��
?�������8 ��� #�������
���������� :.�� ���� '�(������������� �:� R �
 .�4
�������8 ��������� ���� ��
��8 )��� ���� ���
�� .������ �:� Rϑ ��
�� .������
����

��� '��� .������ �����8 ������ �
� �)��������������� !��� <(��� @��A=
�
� ��� %BC ��� (������������ #���� $������������� R ���� %BC �:� ���
,������4����� #���� $������������� Rϑ ����
������� �� ��
� �
�
� ���
B�
���� (�� L2(Zn, w−1

n ) �
 L2(Zn
ϑ , w

−1
n ) .��� E.������ (�� R �
� Rϑ ���4

.�������� ��� ��>
������� J������� ������ <(��� <��� ==8 ���� ��� ����
�����
!
�������� vmlk1k2 �
� %��� ����/ �� ����� ����� ������
�������� (�� R∗

ϑRϑ�
���������� ������ ��
� ���
�� �
� ����� ������
�����D

�� ��� vmlk1k2 ���� 7���� ��� L2(Ωn) .����� <�� @��A= 
�� R∗
ϑ ��
� L2(Ωn)

�..�����8 ����� ��
� R∗
ϑRϑvmlk1k2 ��
� ��� vm′l′k′1k

′
2
���)�
����� B�� .���
����

��� ���)�
��
������Q�������8 )�.�� )�� ��� ���������� '�������
�� <(���
7�����
�� ����*= (��)����� 
�� ��� E.����
����
����� ���.�� ��� �������4
����������
��
�� )��������� G���� C��� ���8 J������������� .���� ����� '������
�
 �����
���8 )��� ���� �O
�(����� �
� 	�����
����� ����� ������
������ (��
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R∗
ϑRϑ ���D

〈R∗
ϑRϑvm,m−2l,k1,k2, vm′,m′−2l′,k′1,k

′
2
〉
L2(Ωn)

= 〈Rϑvm,m−2l,k1,k2, Rϑvm′,m′−2l′,k′1,k
′
2
〉
L2(Zn

ϑ ,w
−1
n )

= σm σm′ 〈um,m−2l,k1,k2, um′,m′−2l′,k′1,k
′
2
〉
L2(Zn

ϑ ,w
−1
n )

, ���� Rϑf |Zn
ϑ

= Rf |Zn
ϑ

= σm σm′ dm dm′

∫ 1

−1

C
n
2
m(s)C

n
2

m′ w(s) ds︸ ︷︷ ︸
=

δmm′
d2
m

∫
Sn−1

ϑ

Y
(n)
m−2l,k1,k2

Y
(n)
m′−2l′,k′1,k

′
2
dSn−1

= δmm′ σ2
m

∫
Sn−1

ϑ

Y
(n)
m−2l,k1,k2

Y
(n)

m−2l′,k′1,k
′
2
dSn−1 <��+=

��� J������������� .���� ��� ������ '������ .���.� ���� ��������� 7�� �������
��.�� )�� ��
� ������ -�.��

� (�� ��� ����
�� !��� ��� B���������
����4
�
�� ����
��8 �� ���� ������ ����.��� 
��.������ ��(�� �

� �:� ������
,������4����� #���� $��������������� ��
���� .���.��

%����� )�� �
� <���= 
�� <���= ���8 �������� )�� )�����D〈
R∗
ϑRϑvm,m−2l,k1,k2, vm′,m′−2l′,k′1,k

′
2

〉
L2(Ωn)

= δmm′ σ2
m c

(n)
m−2l,k1

c
(n)
m−2l′,k′1

×
∫ π

2
+ϑ

π
2
−ϑ

P
(n)
m−2l,k1

(cos θ1)P
(n)
m−2l′,k′1

(cos θ1) sinn−2 θ1 dθ1

×
∫
Sn−2

Y
(n−1)
k1k2

Y
(n−1)
k′1k

′
2
dSn−2︸ ︷︷ ︸

=δk1k′1
δk2k′2

= δmm′δk1k′1δk2k′2 σ
2
m c

(n)
m−2l,k1

c
(n)
m−2l′,k1

×
∫ π

2
+ϑ

π
2
−ϑ

P
(n)
m−2l,k1

(cos θ)P
(n)
m−2l′,k1(cos θ) sinn−2 θ dθ

G��.������ (�� ��� .����
������ ��������� n ≥ 3 .���.� ���� �������
� ���
'���� :.���8 .���� ��� ��
� ���������������� )����� �
��� C
��
��� ������
)�� ��� '������� )����� 
�� ��� %
.����
���� x := cos θ8 dθ = −dx√

1−x2 8 �:���



��
���� �� ������������� �� N �����������  *

�
������ ��� ��� ��)���
�� ��� ����������������� �:� ��� ;����
� �
�

I :=

∫ π
2
+ϑ

π
2
−ϑ

P
(n)
m−2l,k1

(cos θ)P
(n)
m−2l′,k1(cos θ) sinn−2 θ dθ

=

∫ sinϑ

− sinϑ

(1 − x2)
n−3

2 P
(n)
m−2l,k1

(x)P
(n)
m−2l′,k1(x) dx

�����
=

∫ sinϑ

− sinϑ

(1 − x2)k1+ n−3
2 C

k1+
n−2

2
m−2l−k1(x)C

k1+
n−2

2

m−2l′−k1(x) dx . <���=

0
��� ��� ��
� �
�8 ���� ��� '�������� ���� ������ !
������ ��� <(��� <��*==8
������ ��� �
����I��
�

I = 2

∫ sinϑ

0

(1 − x2)k1+ n−3
2 C

k1+
n−2

2
m−2l−k1(x)C

k1+
n−2

2
m−2l′−k1(x) dx .

��������� )�� �
� �:� n ≥ 3 ��� ������
(⌊

m−k1
2

⌋
+ 1

)× (⌊
m−k1

2

⌋
+ 1

)
9�����

A(n, ϑ;m, k1) := (all′)ll′ , l, l′ = 0, . . . ,

⌊
m− k1

2

⌋
, <���=

�
�
�

all′ := 2 c
(n)
m−2l,k1

c
(n)
m−2l′,k1

×
∫ sinϑ

0

(1 − x2)k1+
n−3

2 C
k1+

n−2
2

m−2l−k1(x)C
k1+

n−2
2

m−2l′−k1(x) dx ,
<��/=

�������� )�� ���������〈
R∗
ϑRϑvm,m−2l,k1,k2, vm′,m′−2l′,k′1,k

′
2

〉
L2(Ωn)

= σ2
m δmm′δk1k′1δk2k′2 all′ .

<��*=

!�
�� ����� �$�$	$
	% F��� �6��.��� ��
� �
����I��
� ��� 0
���� ��� 
������������ %BCD ��4
�
�
�8 ���� l ��
�� �� C)�����
������� �������8 ������� ������ �
�
��������
)����� ����8 �1���� )�� ����� ����
������� ��� �������� ��� 9����� �������4
���� -���
�� ��� �
� ����8 ���� )�� l �� �.���������� (�� k1 ����������8 )���
�� ��� 9����� A(n, ϑ;m, k1) �
 ������ k1 ��� �������� �
���1����� 3���� (l, l′)
�������
�% ��� 9����� A(n, ϑ;m, k1) ����� ��
�� (�� k2 �.8 .�� ������ m 
�� k1

���� ���� 
��.������ (�� >�)������� ��������� B��� (�� k2 ��� ����
�� 9�4
���� (��)����� )������
�% B:���� ��� ����� �
� �:�

[
0, π

2
− ϑ

[ ∪ ]
π
2

+ ϑ, π
]
(��������8 ��������� )��

)����
∫ π/2−ϑ
0

+
∫ π
π/2+ϑ

=
∫ π
0
− ∫ π/2+ϑ

π/2−ϑ �� %����� (�� A(n, ϑ;m, k1) ��� 9�����
Id − A(n, ϑ;m, k1)�
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J6����
����
� ��� ��� 9����� A(n, ϑ;m, k1) �&�������
�� ����� ����������
�����(������� d

(n)
µ (m, k1;ϑ)8 0 ≤ µ ≤ �m−k1

2
�8 (�� A(n, ϑ;m, k1)8 ��� ����

J����������.���� <J07= ��� R�m−k1+2
2

� .������ ��� �
���1����� ������� ��4
���)���� .����
���� )�� ��� λ(n)

µ (m, k1;ϑ)� 7���� ��� J07 ��� �����(�������
��� ��� 9����� A(n, ϑ;m, k1) ���������������� ����� ��� ����������� ��� ������
��
� �������� %
����� �
� 7���
��
�� ��� ������
�������� (�� R∗

ϑRϑ ������
7�(�� )�� �
� ��� %BC ��� ,�4#$ ����.��8 �������� )�� ��
� ���

!�
�� ��� �$�$�$ ��� �����)���� λµ ��� 9����� A(n, ϑ;m, k1) )�����
��
� �� !�������� �
����� ��� ��
��������( ����
��������� $����
���
� ������
��� �������� ����.����� �
� �.�
����� �� (���
���8 ���� �:� ����(���� B��4
�������
�����
���� <�� �� �.������� (�� ��� !����� (���������� (����������
���� �������� ��������� B����������= ��� �����)���� ������ �
� !��� ���
��4,�4#$ ����� �
�� �)��
��� 2 
�� � ������� ��� 7�)��� ����� ���
��� ?��4
�
�
�� �:���� )�� ���� ���������� �
�
���� .���.��8 ���� ������� ���������
��
�����)���4 ���� )��������� #��
������������&�� ��� 9����� ���
����� ����4
��
��� ��� ��������� ����� �������� �
�
� '�������� �
���
������ .�)� ):���
��� #����� ������ ��.��� ����������

��� �1���
��� !��� λ(n)
µ (m, k1;ϑ) = 0 �:���� )�� ���.�������� .�� ���

!���
����
�� ��� %BC #�
��
�� ������D

���� �$�$� <%BC ��� θ14,�4#$=$
!:� n ≥ 3 .����
��� v(n)

m,m−2l,k1,k2
8 u(n)

m,m−2l,k1,k2
��� ����
����� !
�������� 
��

σ
(n)
m ��� %���
���)���� �
� %��� ����/� 9�� λ(n)

µ (m, k1;ϑ) 
�� d
(n)
µ (m, k1;ϑ)

.����
���� )�� ��� �����)���� .�)� ��������������� �����(������� ��� ��
<��/= ���������� 9����� A(n, ϑ;m, k1)�
B�� ������

f
(n)
m,k1,µ,k2

(x) :=

�m−k1
2

�∑
l=0

d(n)
µ (m, k1;ϑ)l v

(n)
m,m−2l,k1,k2

(x) <��"=


�� �� !��� λ(n)
µ (m, k1;ϑ) �= 0

g
(n)
m,k1,µ,k2

(ω, s) := λ(n)
µ (m, k1;ϑ)

−1/2
�m−k1

2
�∑

l=0

d(n)
µ (m, k1;ϑ)l u

(n)
m,m−2l,k1,k2

(ω, s)

<���2=

τ
(n)
m,k1,µ

:= σ(n)
m λ(n)

µ (m, k1;ϑ)
1/2

. <����=

�3� ���� ��� 0,7< 7;6 ��� ��� �	��������� �����8 ���� 6��"����7%��	
�	� 	�� ��� -�7
����� ��� ������� �� /0=2 �������� ��	����� $������ �� ���� ��� ��� ������ ����-������
��� ���� ����!�$�������� �����$���� �	��!������� 
���� ���� />?2�
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���� .�����
{
f

(n)
m,k1,µ,k2

, g
(n)
m,k1,µ,k2

, τ
(n)
m,k1,µ

}
�:� ��� '������ m ≥ 08 0 ≤ k1 ≤ m8

0 ≤ µ ≤ ⌊
m−k1

2

⌋
8 k2 = 1, . . . , A(n− 1, k1)8 �:� ��� λ

(n)
µ (m, k1;ϑ) �= 0 ����8 ����

��������� %BC (��

Rϑ : L2(Ωn) −→ L2(Zn
ϑ , w

−1
n ) .

�����
�
B�� ������ �
��
���8 ���� ���� fm,k1,µ,k2 <����
��(� ���>������8 ����� ��� ��4
���)��� λµ = 0 �������
��= ��� (������������ J�����������&���� <?J0%=
(�� L2(Ωn) .�����D

���������
�����'
�� ��� 〈

fm,k1,µ,k2 , fm′,k′1,µ′,k
′
2

〉
L2(Ωn)

=

�m−k1
2

�∑
l=0

�m′−k′1
2

�∑
l′=0

dµ(m, k1;ϑ)l dµ′(m
′, k′1;ϑ)l′

× 〈vm,m−2l,k1,k2, vm′,m′−2l′,k′1,k
′
2
〉
L2(Ωn)︸ ︷︷ ︸

=δmm′ δll′δk1k′1
δk2k′2

= δmm′δk1k′1δk2k′2

�m−k1
2

�∑
l=0

dµ(m, k1;ϑ)l dµ′(m, k1;ϑ)l

= δmm′δk1k′1δk2k′2 d
	
µ dµ′

= δmm′δk1k′1δk2k′2δµµ′ ,

)�.�� )�� �� ������� %
����� �
����
��� ��.��8 ���� ��� dµ ��
� ���������

���� J07 ��� R�m−k1+2
2

� .������

&���
����������'
%�� h ∈ L2(Ωn) ����.�� ���

〈h, fm,k1,µ,k2〉L2(Ωn) = 0 ∀m ≥ 0, 0 ≤ k1 ≤ m, 0 ≤ µ ≤
⌊
m− k1

2

⌋
,

k2 = 1, . . . , A(n− 1, k1) .

B�� ��.�� ��
��
)�����8 ���� h = 0 ����� '���� )�� ��� ?���
�����
��

〈h, fm,k1,µ,k2〉L2(Ωn) =

�m−k1
2

�∑
l=0

dµ(m, k;ϑ)l 〈h, vm,m−2l,k1,k2〉L2(Ωn) = 0
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.�� ������ m 
�� k1 �:� ���� µ �
������������8 �1���� )�� ����� �

� �
����4

.�� ��� ⎛⎜⎝ d	0 (m, k1;ϑ)
���

d	�m−k1
2

�(m, k1;ϑ)

⎞⎟⎠
︸ ︷︷ ︸

=:Dmk1

·

⎛⎜⎜⎝
〈h, vm,m,k1,k2〉L2(Ωn)

���
〈h, v

m,m−2�m−k1
2

�,k1,k2〉L2(Ωn)

⎞⎟⎟⎠
︸ ︷︷ ︸

=:h̃mk1

= 0 .

�� ��� dµ ���� J07 ��� R�m−k1+2
2

� .�����8 ��� Dmk1 ���� ����������� 9�����8
���� ���.�������� ��(������.��� !�����
� ��� ��� �.��� �������� ������� -���4

�
����&���� �
� ��� ���(���� ,1�
�� h̃mk1 = 0� B��� ���� �:� ���� m 
�� k1

����8 .���
��� ��� ������8 ����

〈h, vm,m−2l,k1,k2〉 = 0 ∀m ≥ 0, 0 ≤ k1 ≤ m, 0 ≤ µ ≤
⌊
m− k1

2

⌋
,

k2 = 1, . . . , A(n− 1, k1)

����� �� ��� vm,m−2l,k1,k2 ��� ?J0% (�� Kern(R)⊥ = L2(Ωn) ����8 ����� ����
�
������ h = 0�

0
� �1���� )�� ������8 ���� ��� fm,k1,µ,k2 ������
�������� (�� R∗
ϑRϑ ����D

�� ��� fm,k1,µ,k2 ��� ?J0% (�� L2(Ωn) .�����8 �1���� )�� R∗
ϑRϑ fm,k1,µ,k2

.���� ��� fm′,k′1,µ′,k
′
2
���)�
����� ��� ���)�
��
������Q����� ����.� ��
� �
〈

R∗
ϑRϑ fm,k1,µ,k2, fm′,k′1,µ′,k

′
2

〉
L2(Ωn)

=

�m−k1
2

�∑
l=0

�m′−k′1
2

�∑
l′=0

dµ(m, k1;ϑ)l dµ′(m
′, k′1;ϑ)l′

× 〈
R∗
ϑRϑ vm,m−2l,k1,k2, vm′,m′−2l′,k′1,k

′
2

〉︸ ︷︷ ︸
�����
= σ2

mδmm′ δk1k′
1
δk2k′

2
all′

= σ2
m δmm′ δk1k′1 δk2k′2

�m−k1
2

�∑
l,l′=0

dµ(m, k1;ϑ)l all′ dµ′(m, k1;ϑ)l′︸ ︷︷ ︸
=d�µAdµ′=λµ δµµ′

= σ2
m λµ(m, k1;ϑ) δmm′ δk1k′1 δµµ′ δk2k′2 ;

���� ���

R∗
ϑRϑ fm,k1,µ,k2 = σ2

m λµ(m, k1;ϑ) fm,k1,µ,k2 .
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B��� �����)���� ����� ������(�� J�������� �
������� ��
��������( 
�� ��� σm
������( ����8 ���� �

� ��� λµ(m, k1;ϑ) ��
��������(� �� )�� λµ(m, k1;ϑ) �= 0
(���
�������� ��.��8 ����� )���� Rϑ vm,m−2l,k1,k2 = σm um,m−2l,k1,k2 ������ ���
7�����
��

gm,k1,µ,k2 =
Rϑ fm,k1,µ,k2

σmλµ(m, k1;ϑ)1/2
.

�� �����

Rϑ fm,k1,µ,k2 = τm,k1,µ gm,k1,µ,k2
R∗
ϑ gm,k1,µ,k2 = τm,k1,µ fm,k1,µ,k2 .

�
�
� ��� !�����
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4
��� ��� G�����
���� �)��
��� !
��4���� 
�� ,������4����� #�������
���4
������� �
 (����
���
���8 �
����.�� )�� ��� ����.��� �����������I�� 
�D
7����
���� )�� ��� ψFDγ ��� #�������
���������� ��� (������������ #����
$������������� �
� ,���� �� �+ 
�� ���

ζ(θ1, s) = ψLAγ (θ1, s) − ψFDγ (s)

=
4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n/2
2m (s)wn(s) (q

(n)
2m(θ1) − 1)

=
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n/2
2m (s)wn(s) (q

(n)
2m(θ1) − 1)



��
���� �� ������������� �� N ����������� ��

��� ��6����� �)��
��� ,�4 
�� !�4#�������
����������8 �� ���� �6����
����
�

ψLAγ (θ1, s) = ψFDγ (s) + ζ(θ1, s) .

B�� �1���� ζ(ω, s) ��� )������.�������� 	������
����� ��������������8 ���
)�� �
 ��� )�����
��.�������� #�������
���������� ψFDγ ��� (������������
#���� $������������� �������� �:����8 
� ��� !����� ��� ����� �� θ14
B�����.����
� [0, π/2 − ϑ[∪ ]π/2 + ϑ, π] �
��
����
����

��� ?������ ����� #��������
�� ����I ������ ��������
�� ����� �
� �����8
���� ��
� ��� �
�����
� 
����.�������
�� ������ ψFDγ ��� -�
������ �:� ψLAγ
���� #��
��������
�� .���
���� ������ ��� �
�����
��� %
�)����������� .��
��� 7���
��
�� ��� 	������
������ ζ(θ1, s) �1���� ���� �
�
� ��� ��:��4
��� �..��
��� ��� #�������������
�� ��������� )������ '� -�������� ���

�
�� ��� .�� ����� 7���
��
�� ����I <����= ���� <����= .�� >���� %
����4
��� q2m .���
����8 ���� �

� �:� ��� !
��4���� ������ (�� ψLAγ � B�� ������
����� E.�����
�� ���� �� ���

���� �$+$�$
��� #�������
���������� ψLAγ �
� %��� ��+�� ����� ��
� �� ��� �
�����
� �:��4
������� !���

ψLAγ (θ1, s) = ψFDγ (s) + ζ(θ1, s) <���"=

����������8 )�.�� ��� 	������
����� ζ(θ1, s) �
�
�

ζ(θ1, s) = ψLAγ (θ1, s) − ψFDγ (s) <���2=

=
4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n/2
2m (s)wn(s) (q

(n)
2m(θ1) − 1) <����=

=
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n/2
2m (s)wn(s) (q

(n)
2m(θ1) − 1) <����=

����.�� ����

B�� �������� ��
� ���

"������� �$+$�$
�� ������ ��� %&�����������������

ψLAγ (ω,−s) = ψLAγ (ω, s) = ψLAγ (−ω, s) <��� =


�� ζ(ω,−s) = ζ(ω, s) = ζ(−ω, s) . <���+=



��
���� �� ������������� �� N ����������� ��

�����
� ��� ����� -���
���������
��� ����� >�)���� 
�������.�� �
� ��� ���4
����
������ ��������
���� �� %��� ��+�� 
�� %��� ��+��8 )��� ��)��� ���
-�)�
�� wn ��� �

� ��� �
��
�������� -����.�
��43��&���� Cn/2

2m ����4
�� !
�������� �����
��� �)���� -���
���������
��� ����.� ��
� �
� ��� ��������� (�� q2m(ω)8 (���
<���+=8 �� ���� .���������� 	
�����
����
�������� ������ ����8 (��� 7����4
�
�� ������

!�
�� ��� �$+$+$
��� 7�������� �� ��� θ14,������4����� #���� $������������� ���8 ���� ���
#�������
���������� ψLAγ 
��.������ (�� ��� ��������� n �������
� (�� ��4
��� B�����(����.��� <�����
� ������ θ1= �.������� ���� ��� ����� �
������4
�
�� !���� ��(��8 ���� )�� ��� ����� �
� .���� ����� B������ ������
������
��.��D B�� )����� �� �.�
�����  �+ �����8 ���� ����
�����
���� .���� �����
B������ �

� #�������
����������� �
� !���� ��.�� �1����8 ��� (�� �����4
��� B������ �.�������
0�.�� ��� �����)���(������
���� ��� �:� ��� %BC .��1������ 9������� ��
�.�
����� �� ��� ���� ���� )������ ������
����8 ��� �� ��� L�������
��M ,������4
����� #���� $������������� �� �)�� ����������� <(��� ����� @�A= ���������
'� ������ %���� ��� ��� θ14,�4#$ ��� ���
 �������� ?�������������
�� �:�
n ≥ 3�

!�������� �$+$�$
��� ������
�� �
 ��� 7��������� �� �� ��.�� )�� ��
� ��� �������� �������4
�
�� (�� q(n)

2m �:� n = 3, 4 ����

<�= n = 3D

q
(3)
2m(θ) =

m∑
l=0

√
4(m− l) + 1 Λ

(3)
l (m)P2(m−l)(cos θ) <����=

<��= n = 4D

q
(4)
2m(θ1) =

m∑
l=0

Λ
(4)
l (m)U2(m−l)(cos θ1) <����=

������ ����������� $��
��	��-�������� ;�
�����	
�����
��� 
9���� $�� ���� �	�

�	�� ��� ��������� ;����������������� ��� < 7;6 �������!� ��!�� ���� ��$������

�,�� ���� n = 2 
9���� $�� ���� ��!�� -��������� �� ��� θ17< 7;6 	�� ���-��������
���� %&' 	�� ��� ��-�� -���������� �������� ����� 	������ ,�������� �	� ��� n ≥ 3
�������� ��
���� �����
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%�� �
� ψLA,0γ ��� �� �.���� !��� .���
����� #�������
���������� �:� �����
����������&�������
��� 9������� e0γ �
� Bild(R∗

ϑ) ∩ C∞(Ωn)� �� �

� ���
,������4����� #���� $������������� ���� $�������������(������ �
�)����8
��������� )�� )����� ��� 9������� eγ(x, ·) �
� #�������
����� �� ��� %�����
x ∈ Ωn �
�
�

eγ(x, ·) := T x1 e
0
γ . <���/=

���� )��� ��� -���
�
�� R∗
ϑψ

LA
γ (x; ·) = eγ(x, ·) ��
� <����= 
�� ,���� �� � 

(��

ψLAγ (x;ω, s) = T x2 ψ
LA,0
γ (ω, s) <���*=

= 2−n ψLA,0γ

(
ω,
s− xᵀω

2

)
w−1
n

(
s− xᵀω

2

)
wn(s) <���"=

���1��� 7����� )�� ���� ��� %���������
�� �
� ��� ����� g ��� ��� #����4
���
����������8 �������� )��

fγ(x) =
〈
g, ψLAγ (x; ·)〉

L2(Zn
ϑ ,w

−1
n )

=

∫
Sn−1

ϑ

∫ 1

−1

g(ω, s)ψLAγ (x;ω, s)w−1
n (s) ds dω

= 2−n
∫
Sn−1

ϑ

∫ 1

−1

g(ω, s)ψLA,0γ

(
ω,
s− xᵀω

2

)
w−1
n

(
s− xᵀω

2

)
ds dω .

��� !����� w−1
n ��.� ��
� ��� ��� �� ψLA,0γ ����������� !����� wn )��� B��

������ ����� ������ �
� !
��4���� !���

ψ̃LA,0γ (ω, s) :=
4

|Sn−1|
∞∑
m=0

(m+ n/4) Ĩ(n)
m,γ C

n/2
2m (s) q

(n)
2m(θ1) <�� 2=

=
8

|Sn−1|2
∞∑
m=0

(m+ n/4) I
(n)
2m,γ C

n/2
2m (s) q

(n)
2m(θ1) <�� �=


�� �������� �:� fγ ��� (����
��� ����.���

fγ(x) = 2−n
∫
Sn−1

ϑ

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω .

��� %&�������� �
� 	������� ��+� ������ �

�8 )��� ��� �� #�������
���4
������� ��� ������ !
������ wn )�������8 ���� ���.�������� �

� �:� ψ̃LA,0γ �
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�
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���� B�� ���������
���


Sn−1
ϑ,+ := {ω ∈ Sn−1

ϑ |ωn > 0} <�� �=

.�)� Sn−1
ϑ,− := {ω ∈ Sn−1

ϑ |ωn < 0} <��  =


�� �������� )����∫
Sn−1

ϑ,−

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω

=

∫
Sn−1

ϑ,+

∫ 1

−1

g(−ω, s) ψ̃LA,0γ

(
−ω, s+ xᵀω

2

)
ds dω

=

∫
Sn−1

ϑ,+

∫ 1

−1

g(−ω,−s) ψ̃LA,0γ

(
−ω, −(s− xᵀω)

2

)
ds dω

=

∫
Sn−1

ϑ,+

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω

�
����I��
� ��� !�����

fγ(x) = 21−n
∫
Sn−1

ϑ,+

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω .

'�������� ��.�� )�� ����� ������ �
 %��� �� �� �������D

���� �$+$/$
%�� e0γ ∈ Bild(R∗

ϑ) ∩ C∞(Ωn) ��� ����������&�������
��� 9������� 
�� ψ̃LA,0γ

��� �
���1���� #�������
���������� ����I <�� 2=� !:� ��� �
� #�������
�4
���� �� ��� %����� x .��
����� 9������� ����� eγ(x, ·) = T x1 e

0
γ �

���� ����� ��
� ��� �����������(� '�(���� Sγ ��� θ14,������4����� #����
$������������� Rϑ �� ��� !���

Sγ(x) = fγ(x) = 21−n
∫
Sn−1

ϑ,+

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω <�� +=

�����������
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�	��� �

#	�	���$��
�� 	� ��

��� θ14,������4����� #���� $������������� �
� 	������ � �������
�� ��
����������������� ����� ����
�����
�� ��� 3����)������ θ .�� ����
������4
��� (����� ?���:�.������ ��� ����
���)������ ϕ� 0��:���
� ������ ��
� �
� ���
!����8 )�� ��
� ��� ,������4����� #���� $������������� (������8 )��� ���
��� ����� .���� ϕ ���� ��)��� .���� θ ��� �

� .���� ϕ ����
������� ����
)����� )�� �� ������ 	������ 
�����

����

�� )�� 
�� ��.�� �
� ��� ����������������� !��� ������������� )�����8
(��)����� )�� (�� �
� �� ��� �����
����� ���.�� ��� �������
�� ��������
��
��� 	
�����
����
�������� �������
���� <���2N=�

G����� ?��������)���� )��� �� (�������� F����
�� ��� �� 	������ � ������8
�� ���� )�� 
�� ��������� �:���� ������ 
�� (�� ����� ��� �
����������
G�����
������ )����� �1�����

��� �� ��������

B�� ������ �
� (���
�8 ���� ��� ����� g(ω, s) �:� ω �
�

S2
ϑ,φ :=

{
ω(θ, ϕ) ∈ S2

∣∣∣∣∣ θ ∈ [π/2 − ϑ, π/2 + ϑ] ,

ϕ ∈ [−φ, φ] ∪ [π − φ, π + φ]

}
, < ��=

ϑ, φ ∈ [0, π/2]8 ����.�� ����� 
�� ���������

Zϑ,φ := S2
ϑ,φ × [−1, 1] < ��=

��� ��� �������
������ ������
�������� ���������&������� 5� ��1I�� ϑ 
�� φ
����8 ����� ���� ����� ���� ���� (���������

�3��-�������� ��� S2
ϑ,φ �-������� "	�
����������!�� ���� +����
	�� 0�>�>�

�"



��
���� �� ������������� �� �� �2

��� ����
� ���
��������� ,������4����� #���� $������������� .����
�4
��� )�� ��� <w(s) := w3(s) = 1 − s2=

Rϑ,φ : L2(Ω3) −→ L2(Zϑ,φ, w
−1) , < � =


�� ������ Rϑ,φ ��� 
��������� -. !�������"���� �
��� ��
�
����
�����
!:� φ = π/2 ������ Rϑ,φ ��� Rϑ 
�� n = 3 �
� 	������ � :.������

!�
�� ��� �$	$	$
B�� (����
���� ����
�8 ��� %���������� (������������ ����� .���� θ .�� �����4
�
�������� ?���:�.������ (�� ϕ ��������� �
 .����
����� ���� )��� ��
� ���

��1��� ��)�����D %����� ϕ ������
������ ���8 ��
�� �� ������ ����
���������
G�����
����8 �. θ (��� (���:�.�� ��� ���� ��
���

��� !�������"���#��������

'� !�������� .����
���� )�� ��� vm,m−2l,k ��� ����
����� !
�������� ���
����������������� !�4#$ ����I 	������� �����2� ������ �
 �.�
����� ���
.������� )�� ��� ��� ���)�
��
�� (��R∗

ϑ,φRϑ,φvm,m−2l,k ��
� ��� vm′,m′−2l′,k′�
0
���� )�� ��.�� �
�8 ���� <��+= �:� >��� ,������4����� #���� $���������4
���� ����8 �������� )�� ������〈

R∗
ϑ,φRϑ,φvm,m−2l,k, vm′,m′−2l′,k′

〉
L2(Ω3)

= δmm′ σ2
m

∫
S2

ϑ,φ

Y k
m−2l(ω) Y k′

m−2l′(ω) dω .

!:� ��� '������� ���� ��� ����� ��������� 	��������� c <(��� <���2N==∫
S2

ϑ,φ

Y k
m−2l(ω) Y k′

m−2l′(ω) dω

= c

∫ π/2+ϑ

π/2−ϑ
P

|k|
m−2l(cos θ)P

|k′|
m−2l′(cos θ) sin θ dθ

∫
[−φ,φ]∪

[π−φ,π+φ]

ei(k−k
′)ϕ dϕ

= c

∫ sinϑ

− sinϑ

P
|k|
m−2l(x)P

|k′|
m−2l′(x) dx

∫
[−φ,φ]∪

[π−φ,π+φ]

ei(k−k
′)ϕ dϕ . < �+=

�
� -���
�
�� < �+= )��� �
� ��
���
�8 )��
� �� ������ G�����
���� ��
��8
�. ��� ����� �� θ (���������� ���� ���� ��
��D
�� )�� �� �)����� '������� ��� �������� e4!
������ �:� φ �= π/2 �
� :.��
����� $���.����
� ����� 2π43������ �����������8 ����.� ��
� ���� �

� �:� k �= k′

��� B��� 
�����
� 2P �� -�������� �
 ��� %BC47���
��
�� �� ��� ���� ���



��
���� �� ������������� �� �� ��

J������������� .���� k 
�� k′ .�� ������ ��� ��� B���������
�����
�� (����4
���� !�����
� �1���� )�� �.�� �

� .�� ��� 7���
��
�� ��� ������ '��������
��
�� ���� ��(�� �
������8 ���� ��� .����� (���������������� ,�������4
!
�������� ����
�� J���
�� ��.��8 �� ���� )�� ���.�� .�� ����� '����������
:.�� [−1, 1] <)�� (������������ ����� .���� ��� 3����)������ θ �������
��=
��������� J������������� ���� �����
����

��� �
�)�� .������ �����8 ��� ����
����� !
�������� 
��
����������D 9��
F���� ��� %
����������

∑n
l=1 l = n(n+1)

2
��
���� ��� �
����� ��
�8 ���� ��

�
 ������ m ���������

�m
2
�∑

l=0

(2(m− 2l) + 1) =
m2

2
+

3m

2
+ 1

����
���� !
�������� ��.�� ����� �
��������� )�� �
� ��� ����� ��
�� '�4
��� j (�� 0 .�� m(m+ 3)/2 �
�
�� ��� #���������� ��� ��.�� ������(���8 ����
�������
���� )�� ��� j(l, k) .�)� l(j), k(j) ��� �������� �������
������ '���4
���� 0�
���� )�� ��� .����� '������ l, k �� ����� '���� j �
���������:���
��.��8 ����� ��� ���)�
��
������Q����� ��� !���〈

R∗
ϑ,φRϑ,φvmj , vm′j′

〉
L2(Ω3)

= δmm′ σ2
m

∫
S2

ϑ,φ

Y
k(j)
m−2l(j)(ω) Y

k(j′)
m−2l(j′)(ω) dω < ��=

��� ��������� )�� ���� ��� [m(m + 3)/2 + 1] × [m(m + 3)/2 + 1] 9�����
B(m;ϑ, φ) �
�
�

B(m;ϑ, φ) := (bjj′)jj′ , j, j′ = 0, . . . , m(m+ 3)/2 ,

)�.��

bjj′ =

∫
S2

ϑ,φ

Y
k(j)
m−2l(j)(ω) Y

k(j′)
m−2l(j′)(ω)dω < ��=

����8 �������� )�� 〈
R∗
ϑ,φRϑ,φvmj , vm′j′

〉
L2(Ω3)

= δmm′ σ2
m bjj′ . < �/=

J6����
����
� ��� B(m;ϑ, φ) ��������
� <����� ����� �&�������
�8 �� 
�=8 ��
���� )�� ���� J07 �
� �����(������� �
 ������� �����)����� ����� 
��
����� ���� %BC �:� Rϑ,φ ������
����� �1�����
C
��
��� ��.�� )�� >���
� ��� �������� (�� B(m;ϑ, φ) �� ����� ������������
!��� ��� '���� )�� ��� 	�������� �� < �+= �
��
����.��8 �������� )�� ���



��
���� �� ������������� �� �� ��

�
���

�

bjj′ = c(j) c(j′)
∫ sinϑ

− sinϑ

P
|k(j)|
m−2l(j)(x)P

|k(j′)|
m−2l(j′)(x) dx︸ ︷︷ ︸

=:I1

∫
[−φ,φ]∪

[π−φ,π+φ]

ei(k(j)−k(j
′))ϕ dϕ︸ ︷︷ ︸

=:I2

,

)�.��

c(j) :=

√
2(m− 2l(j)) + 1

4π

(m− 2l(j) − |k(j)|)!
(m− 2l(j) + |k(j)|)! < �*=

.����
�����
B���� ��� %&����������������� ��� (���������������� ,������� !
�����4

��� <���*= ��� ��� '�������� �� I2 ��� ����
�� 3������ )�� k(j) + k(j′)� B��
�������� ����

I1 =

{
0 , k(j) + k(j′) 
�������

2
∫ sinϑ

0
P

|k(j)|
m−2l(j)(x)P

|k(j′)|
m−2l(j′)(x) dx , k(j) + k(j′) ������

. < �"=

7�� ��� 7���
��
�� (�� I2 �1���� )�� 
�� ����� �
� ��� !��� Lk(j) + k(j′)
������M .��
�������� ���� ����∫ π+φ

π−φ
ei(k(j)−k(j

′))ϕ dϕ =

∫ φ

−φ
ei(k(j)−k(j

′))(ψ+π) dψ

= (−1)k(j)+k(j
′)
∫ φ

−φ
ei(k(j)−k(j

′))ψ dψ

=

∫ φ

−φ
ei(k(j)−k(j

′))ψ dψ ,

�� ���� )�� �� ������ !���

I2 = 2

∫ φ

−φ
ei(k(j)−k(j

′))ϕ dϕ

=

{
4 sin((k(j)−k(j′))φ)

k(j)−k(j′) , k(j) �= k(j′)

4φ , k(j) = k(j′)
< ��2=
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���������� '�������� ����.� ��
� �����D

bjj′ =

⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

0 , k(j) + k(j′) 
�������

8c(j)c(j′)
∫ sinϑ

0

P
|k(j)|
m−2l(j)(x)P

|k(j′)|
m−2l(j′)(x) dx

×
{

sin((k(j)−k(j′))φ)
k(j)−k(j′) , k(j) �= k(j′)

φ , k(j) = k(j′)

, k(j) + k(j′) ������

< ���=

'��.�������� ��� B(m;ϑ, φ) ���� ����� �&�������
�� 9������ �������
����
.����
���� )�� �:� µ = 0, . . . , m(m+3)/2 ��� λµ(m;ϑ, φ) ���� �����)���� <�:�
��� )�� �.����)���� )�� �� 	������ � ��� !��� λµ = 0 �
��
����I�� �1����=

�� ��� dµ(m;ϑ, φ) ��� �
���1����� ��������������� �����(��������

���� �$�$	 <%BC ��� �����  �4,�4#$=$
�� .����
��� vmj 8 umj ��� <
������������= ����
����� !
�������� 
�� σm ���
%���
���)���� ��� (������������ ����������������� #���� $�������������8
(��� 	������� �����2� 9�� λµ(m;ϑ, φ)8 µ = 0, . . . , m(m+ 3)/28 .����
���� )��
��� �����)���� ��� �� < ���= ���������� 9�����8 ��� dµ(m;ϑ, φ) ��� �
���14
����� ��������������� �����(��������
B�� ������

fmµ(x) :=

m(m+3)/2∑
j=0

dµ(m;ϑ, φ)j vmj(x) < ���=


�� �� !��� λµ(m;ϑ, φ) �= 0

gmµ(ω, s) := λµ(m;ϑ, φ)−1/2

m(m+3)/2∑
j=0

dµ(m;ϑ, φ)j umj(ω, s) < �� =

τmµ := σm λµ(m;ϑ, φ)1/2 . < ��+=

���� .����� ��� %&���� {fmµ, gmµ; τmµ} �:� ��� '������ m ≥ 08 µ =
0, . . . , m(m + 3)/28 �:� ��� λµ(m;ϑ, φ) �= 0 ����8 ���� ��������� %BC ���
�����������  � ,������4����� #���� $�������������

Rϑ,φ : L2(Ω3) −→ L2(Zϑ,φ, w
−1) .

���� E
.�5F
.�G5 ������H ���"��!�� I2 -�� �	� C��������� ��� ��������� ��� %��"���7
�����8 ./0=25� ��� ��� ��� ��� %&' ��� 0,7< 7;6 
�����	����� ���� />?2�
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�����
�
��� 7�)��� (����
�� ������ �
 ��� (�� %��� ���� � C
��
��� ������ )��8 ����
��� fmµ ��� (������������ J�����������&���� (�� L2(Ω3) .�����D

���������
�����'
�� ����

〈fmµ, fnν〉L2(Ω3)

=

m(m+3)/2∑
j=0

n(n+3)/2∑
t=0

dµ(m;ϑ, φ)j dν(n;ϑ, φ)t 〈vmj , vnt〉L2(Ω3)︸ ︷︷ ︸
=δmnδjt

= δmn

m(m+3)/2∑
j=0

dµ(m;ϑ, φ)j dν(m;ϑ, φ)j

= δmn δµν .

&���
����������'
%�� h ∈ L2(Ω3) ����.�� ���

〈h, fmµ〉L2(Ω3) ∀m ≥ 0, µ = 0, . . . , m(m+ 3)/2 .

B�� �:���� )����� h = 0 ��
�)������ !����� )�� ��� �
����
����.��� ��4
�����

〈h, fmµ〉L2(Ω3) =

m(m+3)/2∑
j=0

dµ(m;ϑ, φ)j 〈h, vmj〉L2(Ω3) = 0

.�� ������ m �:� ���� �1���
��� B���� (�� µ �
������8 �������� )�� ���
�������� -���
�
����&����⎛⎜⎝ d0(m;ϑ, φ)	

���
dm(m+3)/2(m;ϑ, φ)	

⎞⎟⎠ ·

⎛⎜⎝ 〈h, vm,0〉L2(Ω3)
���

〈h, vm,m(m+3)/2〉L2(Ω3)

⎞⎟⎠ = 0 ,

��� �
� ��� ���(���� 0
���1�
�� .������8 )��� ��� �
� ��� J07 ��� dµN� .����4
����� 9����� ���
��� ���� �� �����

〈h, vmj〉L2(Ω3) = 0 ∀m ≥ 0, j = 0, . . . , m(m+ 3)/2


�� �����

h ∈ span{vmj}⊥ = span{vmj}⊥ = L2(Ω3)⊥ = {0} ,
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���� �� ������������� �� �� ��

)�� ��� .���
����� ?�������������� .�)�����

0
� ������ )��8 ���� ��� fmj ������
�������� (�� R∗
ϑ,φRϑ,φ ����D �� ��� fmµ

��� ?J0% (�� L2(Ω3) .�����8 �1���� )�� R∗
ϑ,φRϑ,φfmµ .���� ������ %&�����

���)�
����� !:� ��� ���)�
��
������Q������� ����.� ��
� ��
� 	�����
�����
��� dµN� 
�� 
���� 7��
��
�� (�� < �/= ������〈

R∗
ϑ,φRϑ,φfmµ, fnν

〉
L2(Ω3)

= δmn δµν σ
2
m λµ(m;ϑ, φ) ,

)�� )�����
�

R∗
ϑ,φRϑ,φfmµ = σ2

m λµ(m;ϑ, φ) fmµ

����������� �� R∗
ϑ,φRϑ,φ ��� ������(�� J������� ��� 
�� ����� �
������� ��
��4

������(� �����)���� ��� 
�� ��� σm ������( ����8 ���� �

� ��� λµ(m;ϑ, φ)
��
��������(� 9�� F���� (�� Rϑ,φvms = σmums (��������� ��� ���� )�����8
���� �:� λµ(m;ϑ, φ) �= 0

gmµ =
Rϑ,φfmµ

σm λµ(m;ϑ, φ)1/2

����� ����� ����.� ��
� �
����I��
�

Rϑ,φfmµ = τmµ gmµ

R∗
ϑ,φgmµ = τmµ fmµ ,

)���� ����� .�)����� ����

B�� �� �.�
����� ��� ������� )��D

"������� �$�$�$
��� �����)���� λµ(m;ϑ, φ) ��� 9����� B(m;ϑ, φ) ���:����

0 ≤ λµ(m;ϑ, φ) ≤ 1 . < ���=

�����
� '� 7�)��� ��� %����� ��.�� )�� .������ λµ(m;ϑ, φ) ≥ 0 ��
���)��4
���� 0����� )�� ���� ���������(� �����(������
�� ��8 �� ��� ��� ����� �:�
ω ∈ S2 \ S2

ϑ,φ (�������� ����8 �������� )�� ��� ����� (��������� ��������
#�
��
�� ��� 9����� Id − B(m;ϑ, φ) 
�� ����� ����� ������(�� J�������
R′∗

ϑ,φR
′
ϑ,φ ��� ��� �����)����� σ2

m (1 − λµ(m;ϑ, φ))8 )���
� )�� �
� )�����
1 − λµ(m;ϑ, φ) ≥ 08 ���� λµ(m;ϑ, φ) ≤ 1 �
����I�� �1�����

B�� �
��� �� �.�
����� ��� ���� �

� ����D !���� �����
���
� ���� �����)����
��1I�� 2 ���� �������8 ��� ��� J������� Rϑ,φ ��>����(�
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�.���� )�� �� �.�
����� ��� ���� ��� �

� ���� )���� 	�������
 ���� 
�� �
�
� 7����
���� ��� .����� ����������� L(����������� �����M
<B(m; π/2, π/2) = Id8 ���� �����)���� ���� 1= .�)� L��� ����� �����M
<B(m; 0, 0) ��� ��� 0
��������8 ���� �����)���� ���� 2= ��������8 ���� ���
�����)���(������
�� (�� B(m;ϑ, φ) O
�������( ��� (�� A(3, ϑ;m, k) ������D
5� ���� ����� (�������� ����8 ����� ���� �����)���� ������ .�� 18 >� )�4
����� ����� (���:�.�� ����8 ����� ���� �����)���� ������ �� ��� 0��� (��
2�

��� $������	
� %����"�������&��

��� �.��� ?���
�
�� (���

��� )�� )����� ��� �
�����
��� ������������
�
 
������
��� .�)� �
 ������������ ��.�� )����� )�� 
�� �
��
��� ���
%����������8 ��� )�� .������ �� 	������ � �� ����� ������������� #�����
.������� �����

����� 
��������*��� ��� +�
�� ��*�
�

B�� ������ �
��
��� ��8 ���� .��:���
� ��� ����
���)������ ϕ ���� �����
(�������� ����8 ���� φ = π/2 ����� '� ������ !��� ������ ��� ����������  �
,������4����� #���� $������������� ��� ��� θ14,�4#$ �
� 	������ � ���
n = 3 :.������ ��� ������� G�����
���� ����� �����8 ���� )�� ���� ������
�� �

������ m ���1������ ����
����� !
�������� �
������ ��� �
� ����� 9�����
B(m;ϑ, π/2) ������������������ '� 	������ � )���� )�� �������� ��� ���
3��.��� ������������� B�� �������� 
�� ������ >�)���� �
� ��� �
 ������
m 
�� k ���1������ ����
����� !
�������� ��� >� ����� 9����� A(3, ϑ;m, k)
�����������������

C)�� ��� �� ��������
� 
��:�����8 ������ !��� �����
���
� ��� ��� ���:�

��1��� ����������� ?�������� �
 .��������8 ��� �
�������
��� �:� 
�����
)������� G�����

�
���� ��� �� >���
� ��
�� �������
�8 )��� 
�� 
����� 7��.4
�
��
���� �
� �.�
����� �� ������8 ��� �������
����� ?�������� ��� �����4
)���� �
 (���������

��� C
���������� �)��
��� .����� 7����
��
���)����� �
����� ��
�
�

� �� ��� %��
��
� ��� 9����� B(m;ϑ, π/2) ������D 9�� φ = π/2 ��
���
< ���=

bjj′ =

{
4π c(j)c(j′)

∫ sinϑ

0
P

|k(j)|
m−2l(j)(x)P

|k(j′)|
m−2l(j′)(x) dx , k(j) = k(j′)

0 , �����
.

�

� )��� �� �
� -�
�� ��� 
�����
������
��� 0��������� ��
�� ������ ��4
��
����
� ���8 ���� ��� ��
� ��
� �
�
� ���� �
��� #�
��
�� ������( �
�����
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��(�� :.����
���8 ���� ��� ������� 
�����
� 2 ��)���
�������I ��� (��
A(3, ϑ;m, |k(j)|) �� ��� %����� (l(j), l(j′)) �������
��� J����� )�� ���� ���
'������ (l, k) �� -�
���� ��� !��� (0, k), (1, k), (2, k), . . . ���8 ��� ��� 9�4
���� B(m;ϑ, π/2) 7��
����������������8 )�.�� ��� ��������� 7�1
�� ������
�
� ��� 9������� A(3, ϑ;m, |k|)8 k = −m, ...,m8 .�������� ��� 9�������
A(3, ϑ;m, |k|) ���� �:� k �= 0 ���� >� �)����� (���������
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�88������ �$	9 ��������
�� ��� �����)���� (�� B(m;ϑ, π/2) �:� m =
10, 15, 20, 25 
�� ϑ = π/12 <.��
=8 π/6 <��:�=8 π/4 <���=8 π/3 <�:����= 
��
5π/12 <(������=�

�..���
��  �� �����8 ���� ��� 9������� ��� �����)���� (�� B(m;ϑ, π/2)
)����� ���� .�� 2 .�)� � �����8 
�� ���� ��� ������ ��� �����)���� .�� � �
�
9���� ��� (����������� ����� ������������ ���� C
��� ����� ��
� (�� �����

�,��� ������ �������!� 
�������� ����!����
	�� ���� $��� �����$���� ��������� 	���� +�7
���$�!����� �����
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�:� m = 10 
�� m = 15 �� E.�������.����
� ��
���
� ��������8 ���� ����
���� �����)���� ������� (�������� ����� ��� �
������� �:���� >�)���� (�� ���
9����� A(3, ϑ;m, 0) ���8 ��� �
� ������ �
� ��� ���������� (�� B(m;ϑ, π/2)
�
�������

��� B������� ��� ���� ������.��8 ���� ��� E.�������.����
� (�� �����
�:� �������� B����� ����� .����
����
��� ������ ��� �����)���� .���������

�� ������)��� ���� ��� %��
�� .����
���� )����� ����� ���:� ��.� �� ��
)�������
��� �)�� -�:���D

��� 9����� B(m;ϑ, π/2) .������ �
� ������
��� 9������� A(3, ϑ;m, |k|)8
k = −m, . . . ,m� ����� -�1I� ����� ��� )�
������� |k| �.8 ���������I��
)�
��� ����� ��� E.�������.����
� �� ��� >�)������� �����)���(������
����
�� <������ �� ��
� ����� ���
��� 7����
� ��.�=8 (��� �.�
����� �� � �� ��
�
��� �����)���� ��� 7��
������� B(m;ϑ, π/2) �
� ����� ��� ��������� 7�1
��
A(3, ϑ;m, |k|) �
������������8 (����1I��� ��
� ����� ��������� ��� ������
��� LE.�������4�����)����M�
���� ������� �

� ���� ������
�� ���:�8 )��
� ��� E.�������.����
� .�� ��14
I���� B����� (�� ϑ �� ��� #���� ������� 
�� ����� ������� �
������D 7�� ���
�������
������ 9������� A(3, ϑ;m, |k|) ��� ��� 3
���8 �� ��� ���� �����)��4
�� .�� � ������ 
�� �� ������ E.�������.����
� ���� ��.�8 ��:��� �����
��8
(��� )����� �.�
����� �� �

���:.�� ����
� ���� ��� .����
������ 7��������������� ����� ����� ����
�����8 )�� ��� .��.�
������ �6��� �� ������ ��������� 7��������� �
����4
��
� (��������D C)�� ��� .��������)���� �:� m = 25 ��� �
���1���� 9�����
B(m;ϑ, π/2) ��� ��������� 351×351 <
�� ��� ����� ��1I�� ��� >��� ��� �� �.4
�
����� �� �������������� 9�������=P ��� �������
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�������� ��.�� ��� ��
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�� :.�����
����8 ������� �������
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�� ��� �����)���� (�� B(25;ϑ, φ) �:� φ =
π/3, π/4, π/6 
�� >�)���� ϑ = π/12 <.��
=8 π/6 <��:�=8 π/4 <���=8 π/3 <�:����=

�� 5π/12 <(������=�
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�
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��  �� )����� �������4

���� �����

�� <
�� ��� 0
���� �
����:���=� B�� �� �..���
��  �� �����
�

� ���� ��� >�)������ �.����� �)��
��� �)�� E.�������.����
��� ��� )�
�4



��
���� �� ������������� �� �� /�

������ ϑ �.�
'�������� )��� ��
���
�8 ���� ��
� ��� �����)���(������
���� ������
���
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� ����������� �
� �
�
� ��� ,��� 
�� ���
7����� ����� E.������������� 
�����
�������

��� 7����� ��� E.������������� ����� ��
� �
� 7���� 
������ ����.����� �
�
�
���
�� (����������� B�� �1���� �������
� ����������8 ���� ��� ����������� .��
����
��� �����(������
�� ��� )�
������� m �
������ )���8 ���������� ����
>� )�����
� ��� !��� ����� %��
�������� )�� .�� ��� 9������� A(n, ϑ;m, k)
�
� 	������ � ���
�������

������. ��� �� 
��� �����
��
���8 ���� )�� )��������� ��� ,��� ��� E.��4
�����.����
�� ��
�� ����
 .��
����.�� �1����� ����
������� �����:� ���8 ���
������ ��� �
� ?���:�
�� ��������� ����� ������� �
 O
������������

'� �.�
����� �� ��.�� )�� ��� 9�I �:� ��� 9���� ��� (���������� �����
������
�)������ ��� ,���� ��� '����(���� [π−ϑ, π+ϑ] ������������� ���� )��
���� �������� ����
���������8 ��� ���� )�� ���
�
� �������� �:� k1 = 0 ���
,��� ��� %��
�������� ��
�� ����
 .��
����.�� ��������

F��� ������ ��
� ����
�8 ���� ��� ��
����� 9�I �
�
� |S2
ϑ,φ| ����.�� ���8 ����

�
�
� ��� !��
��8 ��� ��� ����.���� B���������� �
� ��� �������������� S2

���������� 9�� 	
�������������� .���
���� ��
� ����� �
����� �


|S2
ϑ,φ| = 8φ sinϑ .

9�� 
������ !�����

(���:�.��� ����������
��������� ����������

× ������ ��� �����)���� ,

�������� )�� ���� )���� |S2| = 4π ��� ����.���

2φ

π
sinϑ ·

(
m2

2
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3m

2
+ 1

)
. < ���=
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�� �� ���
>�)������� 9������� ��
�� �
�8 ��� ��
����������� �����)��� ������ >�)���� ���
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�

� ���
��.��8 )��
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7����� ���� )�� ��(�� �
���������8 ���� ��� B���������� �:� ω ∈ S2
ϑ,φ �
�

?���:�
�� ������� F��� )����� )�� 
�����

���8 )�� ��
� ��� �:� ��� %BC
.��1������ 9������� 
�� ����� �����)���� ������8 )��� )�� ���� �������4
��(� �����(������
�� (���
�������� ���:� ��.�� )�� �� B�������
��� �)��
91���
�������D

���������� �1���� )�� ��������8 ���� ��� ����
�������� �� 	���������
��� .��������� '����(���� (�������� ����8 ���� �:� ϕ ∈ [φ, π−φ] ∪ [π+φ, 2π−
φ]� '� ������ !��� ������ ��
� ��� 7���
�
�� (�� φ8 �
� ���� 
��� )������
����� (�������� >� ��1I�� φ ���� ��������� .���.� >���
� ����� .��� �����8
��� 9���� ��� ���� (���������� B���������� S̃2

ϑ,φ �������
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#������� 
� π/2 
� ��� z4�
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ϑ,π/2−φ�
������������ �1���� )�� )�� �
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b̃jj′ =

⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

0 , k(j) + k(j′) 
�������

8c(j)c(j′)
∫ 1

sinϑ

P
|k(j)|
m−2l(j)(x)P

|k(j′)|
m−2l(j′)(x) dx

×
{

sin((k(j)−k(j′))φ)
k(j)−k(j′) , k(j) �= k(j′)

φ , k(j) = k(j′)

, k(j) + k(j′) ������

< ��/=
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� :.�� [sinϑ, 1]�
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�� ���� :.�� ��� �����)���� (�� Id −
B(m;ϑ, φ) .���
����� ���� �
������ .����� ��.�� )����� ��� %����������
(������������ ����
���)����������D !:� ���� ������� ��)����� 7���� ���



��
���� �� ������������� �� �� /+

B̃(m;ϑ, π/2) 7��
����������������8 )�.�� ��� ��������� 7�1
�� �
� �
� 9�4
������ ��� !��� Id−A(3, ϑ;m, |k(j)|) .�������� ��� �
���1����� �����)���4
(������
���� ��.�� )�� ����������
� �:� m = 10 
�� m = 25 �� �..���
��
 �� ������������

0 10 20 30 40 50 60 70
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

0 50 100 150 200 250 300 350 400
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

5π/12 π/3 π/4 π/6 π/12

m=10

m=25

�88������ �$�9 ��������
�� ��� �����)���� (�� B̃(m;ϑ, π/2) �:� m = 10
.�)� m = 25 
�� ϑ = 5π/12 <(������=8 π/3 <�:����=8 π/4 <���=8 π/6 <��:�=

�� π/12 <.��
=�

B�� ��)����� �������
��� ��� �����)���� λµ ��� B����� 1−λ′µ8 )��� λ
′
µ

��� �����)���� ��� �������
������ 9������� B(m;ϑ, π/2) .����
����8 (���
�..���
��  ���

��������� .�������� ��
�8 ���� )�� ����� �����)���(������
���� �.�������
:.�� ��� ,��� ��� E.�������.����
�� 
��������������� �1����� ��� 9����4
��8 ��� 9���� ��� (���������� B���������� :.�� ���� !��
�� �
� S2 �

O
�����������8 ��)���� ��
� ��.�� �

� ���� ��� ���������� �������
���� ���
:.����
��� J.����
�� ��� �
�

8φ(1 − sinϑ) .

����������
���� )��� ������� ��� ,��� ��� 9������
���� ��� E.�������.�4
���
�� �
�
� ��� !�����

2φ

π
(1 − sinϑ) ·

(
m2

2
+

3m

2
+ 1

)
< ��*=

.��
����.���



��
���� �� ������������� �� �� /�

��� �1���� )�� �� ��������������8 ���� ��
� �:� ��� ���������(� �����(��4
����
�� 
������� ����
�(���� ����
���� !
�������� ��������
����� ������ )��
��� ��� .��������� %������������8 ������ �
� ��� >�)���� (���������� B��4
�������� ���� ����
����I� !��
�� �
� ��� ���������
��� ����������

�..���
��  �� ����� �)�� 7��������8 .�� ����� ��� >�)������� 3����)�����
ϑ .�)� ϑ′ �� ��)���� )
����8 ���� ����I < ���= .�)� < ��*= �� .����� �����4
(������
���� .�� ����
��� ����
���)����� φ ����
�(���� ����� �
� ?���:�
��
�������

0 50 100 150 200 250 300 350
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

0 50 100 150 200 250 300 350
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

0 50 100 150 200 250 300 350
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

0 50 100 150 200 250 300 350
0

0.5

1

Index µ

E
ig

en
w

er
te

 λ
µ

π/12 π/6 π/4 π/3 5π/12
Standard−
Datenverteilung,
ϑ = arcsin(0.75)

Alternative
Datenverteilung,
ϑ’ = arcsin(0.25)

Standard−
Datenverteilung,
ϑ = π/6

Alternative
Datenverteilung,
ϑ’ = π/6

�88������ �$/9 -����:.�������
�� ��� �����)���� (�� B(25;ϑ, φ) 
��
B̃(25;ϑ′, φ) �:� ϑ = arcsin(0.75) .�)� ϑ′ = arcsin(0.25) <�.��� F�����= ��)��
ϑ = ϑ′ = π/6 <
����� F�����=8 >�)���� �:� φ = 5π/12 <(������= π/3 <�:����=8
π/4 <���=8 π/6 <��:�= 
�� π/12 <.��
=�

�

� )��� ��� 9������
���� ��� E.�������.����
�� �:� .���� �����(��4
����
���� ����I ��� !������ ���� ����
 :.������������8 ��.� �� �����
�



��
���� �� ������������� �� �� /�

����� ������.���� G�����
����D ��� E.�������.����
�� ��� ���������(�� ��4
���(������
�� ���� .������ �
��������8 �� ���� ��� ������ ��� �����)���� ����
2 ��)�� ������� ���� G�������� ��� ����� ��� ������ ��� �����)����8 ��� .�� ���
#�������
����� .��
��� )����� �1����8 �� ��� ���������(�� �����(������
��
�������
���� ��1I���

�� ��� �
�)���
���� ������ �6���� >���
� ��������� ���� ������ ����8
�1���� )�� �..���
��  �� ����� �� ����� ����� ��
� ��� 7�������
�� �.�4
��� ?���
�
�� �������D G��.������ (�� ��� �����(������
�� ������ ��
� .��
����
����I�� ����������� 
������� ����
�(���� ����
���� !
�������� �����4
���
������

'� 0�
������� �1���� )�� ����� �

� ��� ?�������� ��� �����)���� ���
9������� A(3, ϑ;m, k) �
� 	������ � ��������D C)�� ��� ��
� ��� ������
��� ���� ��������
���.���� ����
����� !
�������� �
 ������ m 
�� k >� ��
�
�����(������
�� ��
���
� 
�����
������8 �.�� �
������� ��� -��������� �����
.�� ������ m ��������
���.���� !
�������� ��� K ����
����I� �����������
�� �.���� %���� (���
�������� K (������
�.���

��' ������������� �������

��� )������ ?������� �
� 7������
�� ��� �����������(�� '�(���� ��� ����4
���)���� ����� B�� .������� ��� ���

��!�� ")��� ��� Rϑ,φψ
LA
γ = eγ

�

� ���� ������ )�� ��8 ���� )�� ��� -���
�
�� R∗
ϑ,φψ

LA
γ = eγ �:� �����

����������&�������
��� 9������� eγ ∈ Bild(R∗
ϑ,φ) �1���� ��� �
�������
���

�������� )�� ������� <)�.�� )�� ��� %
�������
��� )����� �� (��������8 ����
�
� :.�� '������ �
��
������ )���8 �:� ��� λµ(m;ϑ, φ) �= 0 ����=

ψLAγ (ω, s) =

∞∑
m=0

m(m+3)/2∑
µ=0

τ−1
mµ 〈eγ , fmµ〉L2(Ω3) gmµ(ω, s) .

'� �
���

�

〈eγ , fmµ〉L2(Ω3) =

m(m+3)/2∑
j=0

dµ(m;ϑ, φ)j 〈eγ, vmj〉L2(Ω3)

����� )����� ��� %���������
�� 〈eγ, vmj〉 �
�8 (�� ��� )�� .������ )����� <(���
�.�
������ �� �� 
�� ��+��=8 ���� �� �:� ����� ����������&�������
��� 9����4
��� eγ �
� .�� �������m 
�� l(j) = m/28 k(j) = 0 
�����
� 2 ���� 7����
����
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)�� ��� j0 ��� '����8 �:� ��� l(j0) = m/2 
�� k(j0) = 0 ����8 �������� )��
����

ψLAγ (ω, s) =

∞∑
m=0,

m ������

m(m+3)/2∑
µ=0

τ−1
mµ dµ(m;ϑ, φ)j0 〈eγ , vm,j0〉L2(Ω3) gmµ(ω, s)

=

∞∑
m=0

m(2m+3)∑
µ=0

τ−1
2m,µ dµ(2m;ϑ, φ)j0 〈eγ , v2m,j0〉L2(Ω3) g2m,µ(ω, s) .

J6����
����
� ����� ���� �:� ������� m ���� �
���1����� ����
����� !
�����4
��� �� ��� 7���
��
�� ��� #�������
����������� ���8 �� �� 7�����
��  �+� �
��� #���������&������� ��� 9�������� eγ .�)���� ���� �������
�8 ���� ��� ���4
�
����� !
�������� �
 
�������� m ����
�������� ��� �
�)��� �
� 7���
�4
�
�� ��� #�������
����������� ��� ���� ���� ��
���
� �1��� ��� �� !���� ���
θ14,�4#$ �
� 	������ �8 ��
�� �
����� )��� ��� ���� .��1������ %BC49�������
��
���
� ��1I�� �
��������

��������� �������� )�� ��
� ����� (�� ���� �� �
 �.�
����� ��+�� (���4
������ �������� #�
��
�� ��� ����.���

ψLAγ (ω, s) =
1

π

∞∑
m=0

(m+ 3/4) Ĩm,γ C
3
2
2m(s)w(s) q2m(ω)

.�)� ψLAγ (ω, s) =
1

2π2

∞∑
m=0

(m+ 3/4) I2m,γ C
3
2
2m(s)w(s) q2m(ω) ,

)�.�� )�� :.��
�

Ĩm,γ =

∫ 1

0

eγ(r)P
(0,1/2)
m (2r2 − 1) r2 dr

I2m,γ =

∫ 1

0

Reγ(s)C
3
2
2m(s) ds

.����
��� 
�� q2m ������� �������� ��� ���

q2m(ω) := |S2|1/2
m(2m+3)∑

l=0

Λl(m) Yl(ω) = 2
√
π

m(2m+3)∑
l=0

Λl(m) Yl(ω) ,

���

Λl(m) =

m(2m+3)∑
µ=0

λµ(2m;ϑ, φ)−1 dµ(2m;ϑ, φ)j0 dµ(2m;ϑ, φ)l . < ��"=
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-���I �.�
�����  � )��� ��� ���� �.������� ��� 7���
��
�� ��� Λl ���
4
���������� �:����8 �� ���� �� �.������ %��� ��
��8 ��� #�������
����������
�� ��� !���

ψLAγ (ω, s) = ψFDγ (s) + ζ(ω, s)

�
 �
����.��� ��.�� .����
���� ζ(ω, s) )����� ��� ��6����� �
� !
��4����

�� ,������4����� #�������
����������� B�� ������ 
����� ����.����� ����
�� ���������

���� �$+$	$
�� ��� eγ ∈ Bild(R∗

ϑ,φ) ��� ����������&�������
��� 9�������� ���� ���� �:� ���
#�������
���������� ψLAγ ��� �����������  � ,������4����� #���� $�������4
������ Rϑ,φ ��� ,1�
�� (�� Rϑ,φψ

LA
γ = eγ ��� ��������
��

ψLAγ (ω, s) =
1

π

∞∑
m=0

(m+ 3/4) Ĩm,γ C
3
2
2m(s)w(s) q2m(ω) < ��2=

.�)� ψLAγ (ω, s) =
1

2π2

∞∑
m=0

(m+ 3/4) I2m,γ C
3
2
2m(s)w(s) q2m(ω) , < ���=

)�.��

q2m(ω) = 2
√
π

m(2m+3)∑
l=0

Λl(m) Yl(ω) ��� < ���=

Λl(m) =

m(2m+3)∑
µ=0

λµ(2m;ϑ, φ)−1 dµ(2m;ϑ, φ)j0 dµ(2m;ϑ, φ)l < �� =

����� �.���� �1���� )�� ψLAγ �� ��� �
�����
� �:��������� !���

ψLAγ (ω, s) = ψFDγ (s) + ζ(ω, s) < ��+=

�
���:
���� ��.�� ��� ��� 	������
����� ζ(ω, s) ����.�� �
�
�

ζ(ω, s) = ψLAγ (ω, s) − ψFDγ (s) < ���=

=
1

π

∞∑
m=0

(m+ 3/4) Ĩm,γ C
3
2
2m(s)w(s) (q2m(ω) − 1) < ���=

=
1

2π2

∞∑
m=0

(m+ 3/4) I2m,γ C
3
2
2m(s)w(s) (q2m(ω) − 1) . < ��/=
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"������� �$+$�$
�� ������ ��� %&�����������������

ψLAγ (ω,−s) = ψLAγ (ω, s) = ψLAγ (−ω, s) < ��*=

��)�� ζ(ω,−s) = ζ(ω, s) = ζ(−ω, s) . < ��"=

�����
� ������ �
� 7�)��� (�� 	������� ��+� D ��� ����� -���
���������
���
����8 )��� ��� �
���������� -����.�
��43��&���� 
�� ��� -�)�
�� w ������
����� ��� �)���� -���
���������
��� ����8 )��� ��� q2m ������ !
�������� �����
G� ��������� ����
�����8 �:���� )�� 
�� �������
� ����� ��������8 ���� )����
Ys = Y

k(s)
2(m−l(s)) �

� ������� ���� .���������� 	
�����
����
�������� �����

��
� ������ ����8 (��� <�����=�

!�
�� ��� �$+$�$
B�� �
��� �.�� ��)����8 ���� ���� �:� ��� ������� m ���� m(m + 3)/2 + 1
����
����� !
�������� .�� ��� 7���
��
�� ��� #�������
����������� ���)��4
��� K �� -�������� �
� #�������
���������� ��� θ14,�4#$ <(��� �.�
�����
��+��=8 )� ��
� ��� ������ ��� .���������� ����
����� !
�������� �
� m

2
+ 1

���
�������
!����� ������� ����� ��� ���:���
� �����8 ���� )�� .�� ��� 	�����
�����

��� ����
����� !
�������� fmµ �:� ������ m �
� ����m(m+3)/2+1 ����
�����
!
�������� vmj �
�:
�������� �:���� 
�� ����������
���� >��� !
������
f2m,µ ����� ������ (�� v2m,j0 .������� '� 	������ � ������� )�� 
�� ��������
�
� >�)���� �m

2
� + 1 !
�������� .��
�������8 )��� )�� ���� �
� .���� �����

'������ ����������������� �
������
���
��
��
� .��1���� ��� ���� �:� ��� #�������
���������� ���� ��1I���

������ (�� !
��������8 
� ��� �������� ����
����&������� (�� S2
ϑ,φ ��

?������
� �
 S2
ϑ �
��
����
���� ���� �
� ����� �

� 	
�����
����
��������

Yj = Y
k(j)
2(m−l(j)) ��� k(j) �= 0 ���8 ��� ����
����� ����� %&������� .���� ϕ

�
�)������ ���� �������� ��
� �

� �� ��� $����
�� )�����8 ���� ��� q2m <
��
����� ���� ψLAγ = �
� ��
�� �
� (�� θ8 ������� �

� (�� ϕ �.��������

��!�	 %�*������*����������
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� -�
��
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����������� <(��� 	�������  �+��= (����
�� ��� #�
�4
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�� (��������� ������ �
 ���>������ �� �.�
����� ��+��8 �� ���� )�� 
��
����
� .��
�������8 ��� �������
����� ����.��� �
 ����
������D

���� �$+$+$
%�� e0γ ∈ Bild(R∗

ϑ,φ) ∩ C∞(Ωn) ��� ����������&�������
��� 9������� 
��

ψLA,0γ = ψ̃LA,0γ w ��� �
���1���� #�������
���������� �
� %���  �+��� !:� ���
�
� #�������
����� �� ��� %����� x .��
����� 9������� ����� eγ(x, ·) = T x1 e

0
γ�

���� ����� ��
� ��� �����������(� '�(���� Sγ ��� �����������  � ,������4
����� #���� $������������� Rϑ,φ �� ��� !���

Sγ(x) = fγ(x) =
1

4

∫
S2

ϑ,φ;+

∫ 1

−1

g(ω, s) ψ̃LA,0γ

(
ω,
s− xᵀω

2

)
ds dω < � 2=

����������8 )�.��

S2
ϑ,φ;+ := {ω ∈ S2

ϑ,φ |ω3 > 0} < � �=

.����
�����
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��������� ��.��� .��
����� #��������� ���������� !
�������� �� E.��.��
�
(���:�.�� �
 ��.��8 )����� ���� ���
�)�������� ���� )�
�������� ������
���4
��� �
���������������

��� ��� (����)*��
���� Γ

!:� 
�� ���� ���� �
� )����� ������
������ ��� Γ4!
������ )�
����D %�� ���
����� 0
��������� 
�� ������������ ��� !��
���� �:� B���� x ∈ R \ Z8 �� ����
�����
� <(��� @*A8 *�  � 
�� *�  "=D

Γ(n+ 1) = n! n ∈ N <���=

Γ(x+ 1) = xΓ(x) x ∈ R \ Z−
0 <���=

C
��� )��� ��� T������ .��
���8 ����

Γ

(
1

2

)
=

√
π <�� =

<(��� @*A8 *�  *= �����

��� ��� +�	�,�)-��&���� P
(α,β)
m

��� /
�����+��)���� P
(α,β)
m , m ≥ 0, α, β > −18 ���� :.�� ��� '����(���

[−1, 1] ���������� .���� ��� -�)�
����
������ w(x) = (1 − x)α(1 + x)β 
��

*�
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�
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���:���� <(��� @*A /� "�=∫ 1

−1

(1 − x)α(1 + x)β P (α,β)
m (x)P (α,β)

n (x) dx

= δmn
2α+β+1

2n+ α + β + 1

Γ(n + α+ 1) Γ(n+ β + 1)

n! Γ(n+ α + β + 1)
.

<��+=

%�� .����� ��� (������������ ������������ %&���� �� ��)�
������ L24#�
�
L2([−1, 1], w) <(��� @"A8 ;������ ��"=� �.������ (�� ����� -��� ��.�� ���
������ .�)� 
������� 3������8 �� �� �� ����

P (α,β)
m (−x) = (−1)m P (α,β)(x) <���=

<(��� @*A8 *�"��=�

��� ��� (����,����)-��&���� Cλ
m

��� 0�����
����+��)���� Cλ
m, m ≥ 0, λ > −1

2
8 �������
��� .�� �
� G����4

����
�� ��� 5�
�.�43��&����� P (α,β)
m �:� ��� %���������� α = β = λ− 1

2
� %��

���� �������� ���

Cλ
m(x) =

Γ
(
λ+ 1

2

)
Γ(2λ)

Γ(m+ 2λ)

(m+ λ+ 1
2
)
P

(λ− 1
2
,λ− 1

2
)

m (x) <���=

<�� @�A8 ������2= 
�� ���:���� �������I ��� �������
����� J��������������4
�������� .���� ��� -�)�
����
������ w(x) = (1 − x2)λ−

1
2 �
� ��� '����(���

[−1, 1] ∫ 1

−1

(1 − x2)λ−
1
2 Cλ

m(x)Cλ
n(x) dx

= δmn 21−2λ π Γ(m+ 2λ)

(m+ λ) Γ2(λ)m!
, λ �= 0

<��/=

<(��� @�A8 ����� =� ���:.�� ����
� ��.�� ��� ��.�� ��� ?�������������� ��
L2([−1, 1], w) ���:���
� �

� ��� %&����������������� ��� 5�
�.�43��&����8
�� ���� ����

Cλ
m(−x) = (−1)mCλ

m(x) . <��*=

��� B������� ���� ���� ��
� ��� ������
������

Cλ
0 (x) = 1 <��"=

dk

dxk
Cλ
m(x) = 2k

Γ(λ+ k)

Γ(λ)
Cλ+k
m−k(x) <���2=

<(��� @*A *�" �8 *�" /= (�� 0
�����
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��' ��� .�������)-��&���� Pm ��� ��� ����)

#������� .�������)*��
������ P l
m

��� !��������+��)���� Pm ���� )�����
� ��� %���������� ��� -����.�
��4
3��&����8 �� ���� �����
�

Pm(x) = C1/2
m (x) <����=

<(��� @*A *�" �=� %�� .����� ���� ��� (������������ ������������ %&���� ��
L2(−1, 1)8 ��.�� ��� %&�������4������
����

Pm(−x) = (−1)m Pm(x) <����=


�� ���:���� ��� J����������������������∫ 1

−1

Pm(x)Pn(x) dx = δmn
2

2m+ 1
. <��� =

��� 


��������� !��������1��������� P l
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�
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C
��
��� ������ )�� �:� m ≥ l ≥ 0

P l
m(x) := (−1)l(1 − x2)l/2

dl

dxl
Pm(x) <���+=


�� ��������� P l
m �:� ������(� J���
���� l :.��

P l
m(x) := (−1)l

(m− |l|)!
(m+ |l|)! P

|l|
m (x) <����=

<(��� @"A8 ;������ ��� <�= 
�� �� <��==� ��� P l
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P k
m(x)P k

n (x) dx = δmn
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2m+ 1

(m+ k)!

(m− k)!
<����=

��)�� ∫ 1

−1

(1 − x2)−1 P k
m(x)P l

m(x) dx = δkl
(m+ k)!

k(m− k)!
<���/=
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P l
m(−x) = (−1)m+l P l
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m �:� λ = 18 �� ���� ����

Um(x) = C1
m(x) <���"=

<(��� @�A8 ����� +=� �������I .����� ��� ��� (������������ ������������ %&����
�� L2([−1, 1], w)8 w(x) =

√
1 − x28 
�� ���:���� ��� %&���������������

Um(−x) = (−1)m Um(x) <���2=

��)�� ��� J����������������������∫ 1

−1

Um(x)Un(x)
√

1 − x2 dx = δmn
π

2
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x(2)(r, ϕ) =

(
r cosϕ

r sinϕ

)
<7��=

<)�.�� r ≥ 0 
�� ϕ ∈ [0, 2π] ����=8 ���� ��� ���
���( ��� �1�����������4
����� 	
�������������� ���������� ���
 ������ )�� �:� n ≥ 3 �����������4
)����

x
(n)
i (r, θ1, . . . , θn−2, ϕ)

:=

{
sin θ1 x

(n−1)
i (r, θ2, . . . , θn−2, ϕ) , i ∈ {1, . . . , n− 1}

r cos θ1 , i = n
.

<7��=

��.�� ���� �
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������� θj ���� >�)���� �
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x(3)(r, θ1, ϕ) =

⎛⎝r sin θ1 cosϕ
r sin θ1 sinϕ
r cos θ1

⎞⎠ , <7� =

��� r ≥ 0, θ1 ∈ [0, π] , ϕ ∈ [0, 2π]�
7��
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� 3
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ω(n)(θ1, . . . , θn−2, ϕ) := x(n)(r = 1, θ1, . . . , θn−2, ϕ) . <7�+=
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dx(n) = rn−1 dr dSn−1 , <7��=

)�.��

dSn−1 := dSn−1
(θ1,...,θn−2,ϕ)

= sinn−2 θ1 sinn−3 θ2 . . . sin θn−2 dθ1 . . . dθn−2 dϕ <7��=

= sinn−2 θ1 dθ1 dS
n−2
(θ2,...,θn−2,ϕ) <7�/=
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|Sn−1| =
2πn/2

Γ
(
n
2
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Vol(Br) =
|Sn−1|
n
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−ω(n)(θ1, . . . , θn−2, ϕ) = ω(n)(π − θ1, π − θ2, . . . , π − θn−2, ϕ+ π) . <7��2=
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−ω(2)(ϕ) = ω(2)(ϕ+ π) ,

)�� )���� sin(ϕ + π) = − sinϕ 
�� cos(ϕ + π) = − cosϕ 
�������.�� �
�
<7��= ������
0
� ��� n ≥ 3 
�� ��� 7���
��
�� ����� �:� n− 1� ���� ����.� ��
� )����
sin(π − θ) = sin θ 
�� cos(π − θ) = − cos θ

ω
(n)
i (π − θ1, . . . , π − θn−2, ϕ+ π)

=

{
sin(π − θ1)ω

(n−1)
i (π − θ2, . . . , π − θn−2, ϕ+ π) , i ∈ {1, . . . , n− 1}

r cos(π − θ1) , i = n

I.V.
=

{
sin θ1 (−ω(n−1)

i (θ2, . . . , θn−2, ϕ)) , i ∈ {1, . . . , n− 1}
−r cos θ1 , i = n

= −ω(n)
i (θ1, . . . , θn−2, ϕ)
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